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Roll Number

Name of the Candidate
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Exam Date & Time 14-02-2023 09:00:00

Subject : GE_Q01-Q10_KRTGTMATH

Question ID:- 1

Options:-

.1, Option ID :- 1,

. 2, Option ID :- 2,

. 3, Option ID :- 3,

. 4, Option ID :- 4,

Answer Given:- 2, Option ID : -2

Question ID:- 2

Options:-

.1, Option ID :- 5,

. 2, Option ID :- 6,

. 3, Option ID :- 7,

. 4, Option ID :- 8,

Answer Given:- 4, Option ID : -8

Question ID:- 3

Rearrange the parts in correct order to make a meaningful sentence.
(a) tragedy on himself
(b) Hamlet brings
(c) at the right time
(d) by not taking the right decision

(1) (a) (d) (b) (c)
(2) (c) (a) (b) (d)
(3) (b) (a) (d) (c)
(4) (d) (a) (c) (b)

Change the following sentence from Active Voice to Passive Voice.
A volley of stones hit the police force.
(1) The police force is sure to be hit by a volley of stones.
(2) It was a volley of stones that hit the police force.
(3) The police force has been hit by a volley of stones.
(4) The police force was hit by a volley of stones.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


https://applink.adda247.com/d/5zsmwiLHz7


Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,

. 3, Option ID :- 11,

. 4, Option ID :- 12,

Answer Given:- 3, Option ID : -11

Question ID:- 4

Options:-

.1, Option ID :- 13,

. 2, Option ID :- 14,

. 3, Option ID :- 15,

. 4, Option ID :- 16,

Answer Given:- 4, Option ID : -16

Question ID:- 5

Options:-

.1, Option ID :- 17,

. 2, Option ID :- 18,

. 3, Option ID :- 19,

. 4, Option ID :- 20,

Answer Given:- 1, Option ID : -17

Question ID:- 6

Fill in the blank with the correct preposition.
The baby was clinging
(1) in
(2) from
(3) to
(4) with

her mother due to fear and anxiety.

Identify the correct tense form of die underlined part in the given sentence.
I had finished writing the letter when he arrived.
(1) Past Perfect Continuous
(2) Simple Past
(3) Present Perfect
(4) Past Perfect

Change the following sentence from Direct Speech to Indirect Speech.
The wayfarer said to the policeman, 'Which is the way to the railway station ?'
(1) The wayfarer asked the policeman which was the way to the railway station.
(2) The wayfarer asked the policeman which the way to the railway station was.
(3) The wayfarer asked the policeman the way to the railway station.
(4) The wayfarer asked the policeman that which was the way to the railway station.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 21,

. 2, Option ID :- 22,

. 3, Option ID :- 23,

. 4, Option ID :- 24,

Answer Given:- 3, Option ID : -23

Question ID:- 7

Options:-

.1, Option ID :- 25,

. 2, Option ID :- 26,

. 3, Option ID :- 27,

. 4, Option ID :- 28,

Answer Given:- 4, Option ID : -28

Question ID:- 8

Options:-

.1, Option ID :- 29,

. 2, Option ID :- 30,

. 3, Option ID :- 31,

. 4, Option ID :- 32,

Answer Given:- 4, Option ID : -32

Question ID:- 9

Identify the part which contains an error.
Beside being fined, / the erring student / was also expelled / from the school

(1) (2) (3) (4)

X

Choose the word nearest in meaning to the given word.
DERISIVE
(1) critical
(2) emotional
(3) angry
(4) mocking

Choose the word opposite in meaning to the given word.
TRANQUIL
(1) rough
(2) violent
(3) agitated
(4) peaceful

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 33,

. 2, Option ID :- 34,

. 3, Option ID :- 35,

. 4, Option ID :- 36,

Answer Given:- 2, Option ID : -34

Question ID:- 10

Options:-

.1, Option ID :- 37,

. 2, Option ID :- 38,

. 3, Option ID :- 39,

. 4, Option ID :- 40,

Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_KRTGTMATH

Question ID:- 11

Options:-

.1, Option ID :- 41,

Identify the Part of Speech of the underlined word.

Jogging ^ a not good exercise, especially for the senior citizens.

(1) Verb
(2) Adverb
(3) Noun
(4) Conjunction

Identify the clause in the underlined portion of the given sentence.

He who exercises daily leads a healthy life.

(1) Noun Clause
(2) Adjective Clause
(3) Principal Clause
(4) Adverb Clause

dM f^rr TITT grt trf^tr 3tr dfich 3TTsnr hr f^rr TUT 'STTT :
'JMd’dh P Pd^q n̂n =hl i?fdt 11 ^ 3#T5qfed Wcf^dT % 4Wd 3dl?< ul 11

dHIdlt^ -HHIddil-M cT«TT HHfllHpddi Pdd4) % gTCT Hlddij% ^>1f^TI f, "3^
3^ -dddd 3 uPshd WHFft f I'dl'K'dJ 3̂1% f, dldRd) %^T *f 3iKdlP̂ dRTrt f I TldiR

^ HlcJ=h dit ddT H<S=d< f^TT P*Hdd1%?
(1) JJW'ti 'HHiSJT
(2) ^-‘fTRTdR

(3) 'HHIddPld
(4) fd^llH'l

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


. 2, Option ID :- 42,

. 3, Option ID :- 43,

. 4, Option ID :- 44,

Answer Given:- 3, Option ID : -43

Question ID:- 12

Options:-

.1, Option ID :- 45,

. 2, Option ID :- 46,

. 3, Option ID :- 47,

. 4, Option ID :- 48,

Answer Given:- 4, Option ID : -48

Question ID:- 13

Options:-

.1, Option ID :- 49,

. 2, Option ID :- 50,

. 3, Option ID :- 51,

. 4, Option ID :- 52,

Answer Given:- 3, Option ID : -51

Question ID:- 14

414 f^TT TTTT &4iM^cJeh trf^r 3^3fl4> 37TS7TT R7 ft?TT "nTT T̂T 'SrTT^Ĥ ITT ;

^HI -clK- r̂at^ 'JMcMh <*737*71 3 1441*7 ^pH =bl ^tcft 11 4 3#T5qfef ^ 7<7 d4dl % 414d 11
HHMK ^ 37*T4 'HHI^ehl'M rf ^TT ’HHTHIHpHdi Pm4) ^ PTTI^3R7 HTlt % gTTT Hld <4l % ^f^TT 7^ t, "37^

3$ 'Jldd* 3 77ph <7 W’TFft T̂Tcf f I'Jll'K'ch ^31% f, INR'TI %^7 *f 3TK <;i14r3 T̂ 4t*7 v̂TTcf f I ^77 313>T7

^ sRT^ fHld <7i :

(1) {fifPffy -M
(2) f =rafa>

(3) 4tfe+
(4) *IMK>ch

4r4 f^TT "HTT dSJiyi ^7T ^M^cjcb M (4^ 37TT "377% 3718717 RT f^RIT Uyd ^7T'STR '^tftrfTT ;

77 HI -<7 K-T4i ^ -jHdVl ^ o^T̂ TI *¥ 1441*7 *jFH =hl 4tc(T t 1 4 37f4<*7l4d 7*7d4dl % 414d 3<l6<v| f I
7-WMK ^ 37*74 77*7133^7 TT^TT TTRTTFfpT^ 14*731 "<77 f4T7J^37^7 % £TTI Hld <4i % f^RRl ^1'feTT^f, 371

3^1 'JHdd 3 77f4v7 77 T̂Fff R3T4 f I3MR”=h T̂Trl f , dMlRct) % 3̂*7 ”4’
<JTK <;i14d7 ^>1 4t*7 R̂frf f I f77 ‘SRiR

'sHdl’IV't) °3<77*7T 4 RinRlRad 4 41 Ph77 =hl 1441 *7 ^1H=7)| t ?
(1) 4fe4t
(2) 44)14s*H

(3) TTHT̂ R-1^
(4) ^37

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 53,

. 2, Option ID :- 54,

. 3, Option ID :- 55,

. 4, Option ID :- 56,

Answer Given:- 4, Option ID : -56

Question ID:- 15

Options:-

.1, Option ID :- 57,

. 2, Option ID :- 58,

. 3, Option ID :- 59,

. 4, Option ID :- 60,

Answer Given:- 1, Option ID : -57

Question ID:- 16

414 f^TT TTTT &4iM^cJeh trf^r 3^7 3fl4> 3TTSnT TJT ft?TT "nTT T̂T 'SrTT ^Ĥ ITT ;

^HI-clK- r̂at ^ 'JHd’dh <*137*71 3 Pl4q ^RH=bl ^tcft 114 3#T5qfef ^ 7<1d4dl % 4Wd 11
HHMK^3774 'HHI^ehl'M cf^TT 71H7HIHp1=b Pm4) ^PTTI^3R7 TriRsft %£171 Hld=b1% ^f^TT 44 f, "3^

3^ 'Jldd^ 4 7lPh<H W’TFft T̂Tcf f I'Jll'K'ch ^3l4 f, dl'lRai % 7̂ 4’ 3TK<;iPloq T̂ 4t*7 v̂TTcf f I ^77 313>T7

Hld<4l 1lJlR=b % 7̂ 4 3d7<7lPlc3 1̂ 4t*7 3i7l<3>7 '3Hd4 4 7̂1 T̂T4 f ?
(1) Hd<7ldl

(2) ^HM5K Mddldl

(3) 71'd’ldl
(4) TlPb-M W F̂Tt

4M f^TT TTTT JISJRH grr &tiM<j4ch Trfen[ 37TT 3TI4> 3nyTT TTT f^tr TJTT g r̂^ STIT 4114^:
7HH|-dK-xr4f ^4 'JHd’dl'H °M37*TT 4 Pl^l ^pH=hl ^tcft f I 4 37f4°'l7pfd ^4 73d4dl 4> 4Wd 3<7l£<U| f I

HHMK^3774 71HI£<413 rT T̂T 71H71IHp1=b Pm4) 7̂7 PTTI^3R7 7rft4f % £171 Hld<4l% 4̂ f^TI 44 f, "37^
3^ 'Jldd* 3 7lPh<H W’TFft T̂Tcf f I'Jll'K'cb 3̂l4 f, dmRdi % 7̂ 4’ 3TK£lPloq T̂ 4t*7 ^i7T4 f I ^77 Tf̂ iK

PiHPiRsld 4’ =F?lFT-77T '3It7 3777*177 % ?
(1) 414d - 7141<7

(2) 77P7p73F - 3777Rf4̂
(3) 3TU£|R1C3 - 3i^TK«7iRicq

(4) THpbH - PtPstrH

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 61,

. 2, Option ID :- 62,

. 3, Option ID :- 63,

. 4, Option ID :- 64,

Answer Given:- 4, Option ID : -64

Question ID:- 17

Options:-

.1, Option ID :- 65,

. 2, Option ID :- 66,

. 3, Option ID :- 67,

. 4, Option ID :- 68,

Answer Given:- 4, Option ID : -68

Question ID:- 18

Options:-

.1, Option ID :- 69,

. 2, Option ID :- 70,

. 3, Option ID :- 71,

. 4, Option ID :- 72,

Answer Given:- 3, Option ID : -71

Question ID:- 19

PinRlfad doHH/cT^̂ 3RRTd % :

(1) cfRj - ^RR

(2) 3T$R - 3TRÎ

(3) T̂4 - ^R

(4) - ^4

fdHfdRsld 4 ‘J'WH'h fold'd " f̂iff t
(1)
(2) 3TI T̂

(3) «iddN

(4) M

Pinfelftslcl 4 ‘ 3RJ3T f^3RTT ’ ^6ld\ T̂I^3f41 :

(1) pcKoNI

(2)
(3) 4t47 ^R ^RdT

(4) fl
'did R̂HT

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 73,

. 2, Option ID :- 74,

. 3, Option ID :- 75,

. 4, Option ID :- 76,

Answer Given:- 2, Option ID : -74

Question ID:- 20

Options:-

.1, Option ID :- 77,

. 2, Option ID :- 78,

. 3, Option ID :- 79,

. 4, Option ID :- 80,

Answer Given:- 1, Option ID : -77

Subject : GA_Q21-Q30_KRTGTMATH

Question ID:- 21

PinRifiad % :

(1) fd'JM

(2) ^frqt?r
(3) 'sHMlSJ

(4)

PinfdRsid "£f «nfcrar̂ > wr t :

(1) HSIHSd

(2) ^(3) mft
(4) ^

Who among the following authors was been selected for the Sahitya Akademi Award, 2022 in
Bodo language ?
(1) Rashmi Choudhury
(2) Sunil Phukan Basumatary
(3) Nandeswar Daimary
(4) Adaram Basumatary

finielRsld ^ f̂ T ?) <st =h WT P 3T̂ T f̂l 2022 % P?TQ,
"^TT TPT1 ?

(1) TpR

(2) ^dlcrl 'jjdH dl^HdlPI
(3) dlM.AO
(4) ^dKlH en*jHdlfl

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 81,

. 2, Option ID :- 82,

. 3, Option ID :- 83,

. 4, Option ID :- 84,

Answer Given:- 2, Option ID : -82

Question ID:- 22

Options:-

.1, Option ID :- 85,

. 2, Option ID :- 86,

. 3, Option ID :- 87,

. 4, Option ID :- 88,

Answer Given:- 3, Option ID : -87

Question ID:- 23

Which of the following cities in the world is also known as the 'Peace Capital' ?
(1) Athens
(2) St Petersburg
(3) Geneva
(4) Jerusalem

PIHRIRSICI 3 3 fTRT WT ‘%T %fqzrr’ WclT t?
(1) T$RT

(2) ife
(3)

(4)

The provision related to which of the following Commissions was inserted into the Indian
Constitution through the Constitution (Ninety-ninth) Amendment Act, 2014, which was later
struck down by the Supreme Court ?
(1) Planning Commission
(2) National Commission for Minorities
(3) National Judicial Appointment Commission
(4) Commission of Inquiry

Trfemr ( JV-IM'W) TRTP-H 2014% RPZR TI T̂RTT % TffasiH "fen STFTPT^sprigs TRI
8IT fapj P ÎPITPPI g[KT 3R f^RT RTT «IT ?
(1) 4)'*HI 37pffTT

(2) TPSlfa 3TFTp[

(3) TTRTfa fagfacl SlPlPT
(4) sTPfhr

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 89,

. 2, Option ID :- 90,

. 3, Option ID :- 91,

. 4, Option ID :- 92,

Answer Given:- 3, Option ID : -91

Question ID:- 24

Options:-

.1, Option ID :- 93,

. 2, Option ID :- 94,

. 3, Option ID :- 95,

. 4, Option ID :- 96,

Answer Given:- 3, Option ID : -95

Question ID:- 25

Consider the following statements :
(a) A Government of India initiative - India International Skill Centre (IISC) Network - is a

fee-based market driven model.
(b) IISC Network caters to the needs of Indian Companies demanding foreign manpower and

expertise.
Choose the correct answer from the codes below :
(1) (a) is correct but (b) is wrong
(2) (a) is wrong but (b) is correct
(3) Both (a) and (b) are correct
(4) Neither (a) nor (b) are correct

iHHfdRad TR f̂ k chir̂ k, :

(a) *fK<T *K=t> K ^ fWvT (IISC) ^ 3TNTftrf RRIT
HTSVI % I

(b) IISC 'Jl'WlpKI RFT 4> Hpl4T^ 'skFkdl % I

^^ ^Wf ^3rR cblPit!. :

(1) (a)W\11̂ 3 (b) TTvffi t
(2) (a) 7TvTcf f (b) R# t
(3) (a) 3?k (b)^TfR^t
(4) (a) (b) #rf 33^ t

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 97,

. 2, Option ID :- 98,

. 3, Option ID :- 99,

. 4, Option ID :- 100,

Answer Given:- 2, Option ID : -98

Question ID:- 26

Options:-

Consider the following statements regarding states in India
(a) Nagaland was created as a separate state in 1963
(b) Manipur and Mizoram were granted statehood in 1987
(c) Tripura and Meghalaya were granted statehood in 1972
Choose the correct answer from the codes below :
(1) only (a)
(2) only (a) and (b)
(3) only (a) and (c)
(4) only (c)

PinPelRslcl PccdK =blP=iq :

(a) 1963 TF??T <dHNI TTF

(b) PH4|<H 1987 3 ^rf W

(c) f^JTT Afield 1972 "Af TF̂ T̂f "W

^ ^Wt ^3TR îT ^IPjlM, :

(1) (a)
(2) feT (a) 3flT (b)
(3) (a) 3fR (c)
(4) (c)

What are jet streams ?
(1) One of the techniques of land formation within the shelter belt method of soil conservation
(2) An apparant force caused by the earths rotation
(3) Tidal force experienced by mangrove vegetation
(4) Narrow belt of high altitude westerly winds

ite mrpP wt?
(1) Mq (shelter belt method) % ^-T^RT^ cl'+Hldi
(2) Tf cJcFR oRT

(3) £KT

(4) TpRTRt^T3Tf TTf TRRfazst

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


.1, Option ID :- 101,

. 2, Option ID :- 102,

. 3, Option ID :- 103,

. 4, Option ID :- 104,

Answer Given:- 4, Option ID : -104

Question ID:- 27

Options:-

.1, Option ID :- 105,

. 2, Option ID :- 106,

. 3, Option ID :- 107,

. 4, Option ID :- 108,

Answer Given:- 2, Option ID : -106

Question ID:- 28

Consider the following statements regarding Nayan Moni Saikia :
(a) She is an Arjuna Awardee, 2022
(b) She is a Gold Medal (Team) winner in Commonwealth Games 2022
(c) She is a Silver Medal (Team) winner in Asian Championship, 2018
Identify the correct answer from the codes given below :
(1) (a) only
(2) (a) and (b) only
(3) (b) and (c) only
(4) (a) and (c) only

(a) ^2022^ f
(b) ^TF llvf 2022 f
(c) TF 2018 *¥ (zta) fa^dl f

"TNI FTF) T?R HF’dM :

(1) (a)
(2) (a) 3fk (b)
(3) %TeT (b) (c)
(4) %cf?J (a) sfo (c)

Which of the following is not a factor responsible for storage losses in agricultural produce ?
(1) Mites
(2) Bacteria
(3) Fumigation using chemical
(4) Inappropriate moisture and temperature in the place of storage

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 109,

. 2, Option ID :- 110,

. 3, Option ID :- 111,

. 4, Option ID :- 112,

Answer Given:- 3, Option ID : -111

Question ID:- 29

Options:-

.1, Option ID :- 113,

. 2, Option ID :- 114,

. 3, Option ID :- 115,

. 4, Option ID :- 116,

Answer Given:- 4, Option ID : -116

Question ID:- 30

fifw H'
SK^I lift % f r̂o; PinRiRad *¥ ^^R HT

(1)
(2)
(3) WWH °F13PTR ^yl =b<U|

(4) )̂ -SKul WT!? f̂, 3H ^H^=KI Rtf) 3ffc dlHHM

<5d<dl4) 1|?dilldi

Which of the following examples most appropriately represents the "Versatility" characteristic of
the computer ?
(1) Calculation and generation of salary slips of thousands of employees of an organisation
(2) Result of division of any two numbers up to 10 decimal places
(3) Performing long and complex calculations with the same speed and accuracy from the start

till the end
(4) At one moment one can use the computer to prepare a letter document and in the next

moment one may play music or print a document

PlHftlRsld P 11 îR HT <JdlS<ul ‘ ®i§fci 3ldl ’ (Versatility) IRsft Pd^lddl ^ WT dO^h
îfcTT %?

(1) P=bHl IPIciH % =b4-c|lR4l’ % %rR M^HI dvHI sftT ^cR-1^ 1̂-lV ^TRT

(2) P=h^ H
*
Odl3Tf % T̂FFFjR % MRUIIH 10 Co'IHdd l̂ IRt IRi deli’ll

(3) 3TR 1̂ ^1 3R cR7 3pR WTfSTf hfcT 3pR 'ifepRT^ v̂RT

(4) ^)T IPlPT^ Wifi *¥ ^>RT 3pR -H -’fld ^5fRT T̂T fife
dildl I

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 117,

. 2, Option ID :- 118,

. 3, Option ID :- 119,

. 4, Option ID :- 120,

Answer Given:- 3, Option ID : -119

Subject : RA _Q31-Q35_KRTGTMATH

Question ID:- 31

Which among the following is notcorrectly matched regarding Indian Navy's exercises with Foreign
Navies ?

List - I
(Name of the exercise)

(1) Bongosagar
(2) SLINEX 22
(3) Exercise Varuna 2022
(4) JIMEX 22

List - II
(Countries involved)
India and Bangladesh
India and Sri Lanka
India and Australia
India and Japan

'FTIcfFT -ill'll 4kHl3tf % TTPI ftHfetfod R" R ^fdd HF? t?

( SMlTlM )^-1
(3T«TTFT^TT T̂Th)

(l) R̂FFTFR *TK?T sflT

The given question is based on the following information :
A # B means 'A is father of B';
A & B means 'A is mother of B';
A @ B means 'A is son of B';
A © B means 'A is wife of B'.
Which of the following means 'H is the grandson of R' ?
(1) P & R © Q # H
(2) H & R @ G @ P
(3) H & J @ P # R
(4) G & H @ J @ R

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 121,

. 2, Option ID :- 122,

. 3, Option ID :- 123,

. 4, Option ID :- 124,

Answer Given:- 4, Option ID : -124

Question ID:- 32

fcRTT W fTH%fecT T̂TT̂ Rt SITOTfel t :

A # B B̂T 37«f f ' A, fan t B F̂T ’;

A & B F̂ 37«f t‘ A, BTffl

A @ B °FT ŝff ' A^tB^’;

A © B 3T?f f ‘ A,^t B T̂’ I

PinRiRad if 3 Pd^^H c^ridi t%'H, R f ?
(1) P & R © Q # H
(2) H & R @ G @ P
(3) H & J @ P # R
(4) G & H @ J @ R

Three statements showing relationships have been given, which are followed by two conclusions
(I) and (II). Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.
Statements :
[1] Q < K
[2] K > J
[3] S Q
Conclusions :
(I) S < K
(II) J > Q
(1) Only conclusion (I) is true
(2) Only conclusion (II) is true
(3) Both conclusions (I) and (II) are true
(4) Neither conclusion (I) nor (II) is true

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 125,

. 2, Option ID :- 126,

. 3, Option ID :- 127,

. 4, Option ID :- 128,

Answer Given:- 4, Option ID : -128

Question ID:- 33

Options:-

.1, Option ID :- 129,

. 2, Option ID :- 130,

. 3, Option ID :- 131,

WPI WPT W.f U -iZ , Plteb4 (I) sfft (II) 1^Wt I WRR% fl3[% W
Wtf, W ~mWfalJ ^ fdWl fafiMcl Wf P P#f/f ?
SFim :
[1] Q < K
[2] K > J
[3] S Q
fH <Kh 4 :

(I) S < K
(II) J > Q

(1) PINI4 (I) P# f
(2) %PR M (II) P# t
(3) fwf (I) 3?K (II)^Tf Wit
(4) ^rf FHPPT 33 *rt p# wf t

Seven friends M, N, J, K, P, Q and R, are sitting in a circle facing at the centre but not necessarily in
the same order. 'Q' is to the immediate right of 'M'. 'R' is not between 'J' and 'Q'. 'P is neighbour
of 'M' and 'K'.
Which of the following persons are sitting adjacent to each other from left to right in the order as
shown ?
(1) PKR
(2) NRJ
(3) JKR
(4) QNJ

PTcT fp5t M, N, J, K, P, Q R TJpT ^TT Pit Pl^Fl 3P% PT^ Pit 3TtT ^pT =h<^> sfe1tPRJ^^>P Wf
11'Q', 'M'% ^pff 3TR f | 'R', 'J' 3?P'Q' % Ptp 3P?t tsi11'P,'M' sfk 'K' P* PftPt t •
FiHFeiRsid odFdcidl 3 it P?R it OMFKI PtP fpijw PP tf PTPf it ppff Ptr pp> <gPt % PPPIPT f ?
(1) PKR
(2) NRJ
(3) JKR
(4) QNJ
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. 4, Option ID :- 132,

Answer Given:- 1, Option ID : -129

Question ID:- 34

Options:-

.1, Option ID :- 133,

. 2, Option ID :- 134,

. 3, Option ID :- 135,

. 4, Option ID :- 136,

Answer Given:- 4, Option ID : -136

Three statements are given followed by three conclusions (I), (II) and (III). You have to consider
these statements to be true, even if they seem to be at variance from commonly known facts. You
are to decide which of the given conclusions logically follow(s) from the given statements.
Statements :
[1] All fruits are vegetables
[2] No apple is vegetable
[3] Some apples are bananas
Conclusions :
(I) Some bananas are fruits
(II) No apple is fruit
(III) No fruit is banana
(1) Only conclusion (HI) follows
(2) Only either conclusion (I) or (II) follows
(3) Only either conclusion (I) or (III), and (II) follow
(4) None follows

#1 TTt P*H«k #1 PlkhtJ (I), (II), (HI) I 3fFJd?t^ Tl# TIR3T f
^ filmed: T̂TcT cfszff ^ f̂ FT =R?f H i?i I T? Pluh dilPslk, T̂TFT TTT/^T Pl^tf f^TT Tpr cliPPd ^P̂ dddi t/f ?

:

[1] wr 11
[2] ««0 dssT % I

[3] ^ 1? I

frwf :

(I) ^5 %crf Wf f
(II) ^ xF>eT ^H 1

(III) d>) ^ M^crl %dT ds?) 1? I

(1) Pi'di f̂ (IE) Pldddl 11
(2) *TT eft (I) 31*1=11 (II) Pldddl f
(3) %^eT '•T eft (I) 3f8T^T (IE) Pididcl11, 3ftl Pl &d4 (II) Pldddl 11
(4) Pl'd'J T̂sff Pldddl % I
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Question ID:- 35

Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Females, Mothers, Lawyers

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 137,

. 2, Option ID :- 138,

. 3, Option ID :- 139,

. 4, Option ID :- 140,

Answer Given:- 4, Option ID : -140

Subject : CL_Q36-Q40_KRTGTMATH

Question ID:- 36

TITT fĉ dii 3^ ĴT dilfau, f^ îf % 4Nf Wt < l̂fdl iff I

Hfedl^’
, PPTPf , 3Tf£R3?IT

Eila Gulati is planning to connect 25 computers of her training center using Ethernet Cable. Which
one of the following devices should she use for the same ?
(1) Switch
(2) UPS
(3) HDMI Splitter
(4) Repeater

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 141,

. 2, Option ID :- 142,

. 3, Option ID :- 143,

. 4, Option ID :- 144,

Answer Given:- 3, Option ID : -143

Question ID:- 37

Options:-

.1, Option ID :- 145,

. 2, Option ID :- 146,

. 3, Option ID :- 147,

. 4, Option ID :- 148,

Answer Given:- 2, Option ID : -146

Question ID:- 38

fUT Jjdlil cpi 5f#rT =b<=h 3PT^ ‘St^FT % 25 =h^d<l’ ^T <*>}<*£ 5̂t 4l 'JHI T̂T T?TM? ?

^ feref f^vR 'fesr^FT^TRIPT -CIIP̂ H ?
(1) fpRl (Switch)
(2) (UPS)

(3) i<-Gtsli<H3Tlf fWie< (HDMI Splitter)

(4) fpftep (Repeater)

Which of the following ports is the most primitive for connecting a Video output device on a PC/
a laptop ?
(1) HDMI
(2) PS2
(3) VGA
(4) USB

TR ^ cflrs'4) 3TT3Z35 ^ =*H4d ^R5 % fuir ^ TJPHT 1? ?
(1) T^rrqanf (HDMI)

(2) (PS2)

(3) (VGA)
(4) (USB)

Which of the following is not an input device ?
(1) Touchpad
(2) Speaker
(3) Scanner
(4) Light Pen

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 149,

. 2, Option ID :- 150,

. 3, Option ID :- 151,

. 4, Option ID :- 152,

Answer Given:- 2, Option ID : -150

Question ID:- 39

Options:-

.1, Option ID :- 153,

. 2, Option ID :- 154,

. 3, Option ID :- 155,

. 4, Option ID :- 156,

Answer Given:- 3, Option ID : -155

Question ID:- 40

PinRiRad 33 Tff t ?
(1)
(2) *Ml =t> <
(3) 3%3T

(4) cTTfS^f

is a file extension of an image file.
(1) mp3
(2) mov
(3) tiff
(4) mpeg

11
(1) mp3
(2) mov
(3) tiff
(4) mpeg

Which of the following is the correct full form of TCP ?
(1) Transmission Control Protocol
(2) Transportation Control Protocol
(3) Transmission Central Protocol
(4) Transport Control Protocol

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 157,

. 2, Option ID :- 158,

. 3, Option ID :- 159,

. 4, Option ID :- 160,

Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q50_KRTGTMATH

Question ID:- 41

Options:-

.1, Option ID :- 161,

. 2, Option ID :- 162,

. 3, Option ID :- 163,

. 4, Option ID :- 164,

Answer Given:- 2, Option ID : -162

Question ID:- 42

PinRiRad ^ zkfHt (TCP) ^ Tfi %?
(1) dRTfa^R 4)del yldl=hlet

(2) =hdld illdlcblcrl
(3) dldPH^M TPtfeT yielded

(4) £IUHU =fcild yielded

A child is bom in a morally honest and socially committed family. Over the time, the child imbibe
these values through :
(1) Experiantial learning
(2) Reflection
(3) Insight learning
(4) Vicarious learning

^ ^ ^Hhd< dn ^iHiPdcb d yfd ®i «s iRdk Ei eRn % i '?PPJ
eflel°F> P=RT% HÎ H ^ ^edt ^1 dlcHdld 'dvt el4ll ?
(1) Sq-Hdlcd* dPWf
(2) yPdd ^d

(3) ^{W. 3TPWT
(4) yPdPdPM^dd) 3fPW3

A student of which one of the following type of school will prefer homeschooling ?
(1) A school that acknowledges diversity
(2) A school that considers disability
(3) A school that adheres to social exclusion
(4) A school that follows social inclusion

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 165,

. 2, Option ID :- 166,

. 3, Option ID :- 167,

. 4, Option ID :- 168,

Answer Given:- 3, Option ID : -167

Question ID:- 43

Options:-

.1, Option ID :- 169,

. 2, Option ID :- 170,

. 3, Option ID :- 171,

. 4, Option ID :- 172,

Answer Given:- 4, Option ID : -172

Question ID:- 44

PinPelRsld 3^ f^RT r̂e>R % ^^TeT ^>1 RT "41 ( ftR ^RlJl ) ^T RIsifR R̂IT^TT ?
(1) T3^> 4^Ri fsff^^cIT t̂ *cfl =til< ^RcTT %
(2) T3=F TfRT Rt f^:i? l =k1c1 i ’’R f̂ TR T̂TCTT t
(3) ^4^K3 T̂t ’trllHlf î '=b «P*«4RU| MHH F̂RdT %
(4) ‘Ffjrf Rt UIHlfa* ^ 3FJRRJT ^RcTT % I

Which one of the following character pertaining to the cognitive development of adolescents is
correct ?
(1) Adolescents learn by social interaction.
(2) Adolescents can use deductive logic.
(3) Adolescents are capable of theoretical reasoning.
(4) Adolescents can think upto concrete level.

% HdMIcHcb factim % R" PinRiRsid ^ RT eTC-fR Ri?t %?
(1) P=MlU 3R?T: HfRTT % £RT Rl <sld f I

(2) PWflV PlJlhHIrH<+i R>T TPTTR "3R R3TCT 11
(3) P+̂ lU ^-SlPd^ Pd^ -cM *3f RRR^f I

(4) fWU Ref RR cT̂ fadd R̂ R^l f I

Amar is a 15 year old school going student. Which one of the following now can be answered or
responded by Amar which he could not answer or might face difficulty in answering/responding
five years ago ?
(1) 'Describe the most crowded place of your city in your own words'
(2) 'Describe the cleanliness and beauty of your city'
(3) 'Describe the most crowded place of your city as if you are flying in the sky'
(4) 'Describe the beauty of your city as you saw in a dream'

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 173,

. 2, Option ID :- 174,

. 3, Option ID :- 175,

. 4, Option ID :- 176,

Answer Given:- 3, Option ID : -175

Question ID:- 45

Options:-

.1, Option ID :- 177,

. 2, Option ID :- 178,

. 3, Option ID :- 179,

. 4, Option ID :- 180,

Answer Given:- 2, Option ID : -178

Question ID:- 46

3FR Rvfl 15 UTR 1? I 3RR pTRfcffecT ^f R1 3R Pb^dil ^3fR ^ H'̂ al % fet*1=t> l ^s? ‘RRt ^^~3xR f̂ <*>fcWfe ^>RT 8TT ?
(1) ‘ 3R^ $f|$<. % RRfpRT Îs'HI -S RTH ^7f $FT^ ^|<a{t if ^JpT t+nnam,' I

(2) ‘3rq% im *lft
(3) ‘*Tpff 3TN 3TTRRH *if cR? ijt, "55rf^3TR% % RRff*J3i ’MI -S'HIS RJH T̂ I

(4) ‘ 3Ttpf Wl^>t^<rll T̂^JpT ifcfT f^> 3TTRf RRT^T $’ I

3||R ^<<dl F̂T c^Pl =b)feiy’ I

A teacher wants to ensure complete learning on the part of the students. So, the teacher should
focus on the :
(1) Philosophical implication of learning.
(2) Psychological implication of learning.
(3) Social implication of learning.
(4) Moral implication of learning.

TRT 31̂ 1^WRi gTCT Tjnf 3#PTR îRT ^Plfe-cid v̂RT ^ISdl % I 31®TTW T̂T f?)Rl RR S2TFT %f^cl R̂T f̂TfeTJ ?
(1) 3#PTH % îfacb fnf^disf RR

(2) STPIRPR % Pifedi f̂ R

(3) 3#FFr % RtlHlpji=h Plfedl4 R

(4) SRpPTP % ^Pd =t> Pifed I TR

Among humans, which one of the following activity does not require gross motor skills ?
(1) Standing alone
(2) Grasping a toy
(3) Walking upstairs with help and support
(4) Jumping at a place

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 181,

. 2, Option ID :- 182,

. 3, Option ID :- 183,

. 4, Option ID :- 184,

Answer Given:- 2, Option ID : -182

Question ID:- 47

Options:-

.1, Option ID :- 185,

. 2, Option ID :- 186,

. 3, Option ID :- 187,

. 4, Option ID :- 188,

Answer Given:- 4, Option ID : -188

Question ID:- 48

if fep f̂ TT % feHJ TSJyT Jlfd=h =hl^ld 3TT̂ T̂ KTT "Riff iStcft f ?
(1) 3T%eTT <3^ <.5$ if
(2) Racil'l F̂> f Mg^dl ^ ^
(3) WPTcTI 3pR ^Tf«fa^ 5̂TcT% if
(4) ^w qr if

Kohlberg describes the context of moral development within :
(1) Emotional and cognitive development
(2) Social and emotional development
(3) Physical and cognitive development
(4) Social and cognitive development

i fepi f̂afcT tol t ?
(1) ^l <=HlcH=h if
(2) 3fR ^WHicHcf, fcW'H if
(3) 3?R fê cbl -H if
(4) 3fR «H 5lMirH <=h f̂ TP if

The human development pattern is
(1) Spiral
(2) Linear
(3) Parabolic
(4) Cyclical

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 189,

. 2, Option ID :- 190,

. 3, Option ID :- 191,

. 4, Option ID :- 192,

Answer Given:- 1, Option ID : -189

Question ID:- 49

Options:-

.1, Option ID :- 193,

. 2, Option ID :- 194,

. 3, Option ID :- 195,

. 4, Option ID :- 196,

Answer Given:- 3, Option ID : -195

Question ID:- 50

RFra fddiHrl yfdHlH % :

(1)
(2) vm
(3) H <ddP-l =h

(4) •cfshl 'H

In the context of human development, which one of the following is an incorrect statements ?
(1) Development proceeds at different rates.
(2) Development patterns are predictable.
(3) Development is synonym to maturation.
(4) Later development is more specific than early development.

TRFFra foehUt % "STd*! PlHplRsIcl 3Tl T̂l TT#^t?
(1) P**l« fdf̂ Ff "’Tt 3TFt 11
(2) fdcbW yfdMH ^f I

(3) PqchH MRH =KH f I

(4) ^rddil-H 3RfSJT TRdrff Pt =hm 3#RT fdfw ^tcTT % I

The terms 'cephalo caudal' and 'proximodistal' are associated with :
(1) Growth.
(2) Aging.
(3) Maturation.
(4) Development.
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Options:-

.1, Option ID :- 197,

. 2, Option ID :- 198,

. 3, Option ID :- 199,

. 4, Option ID :- 200,

Answer Given:- 1, Option ID : -197

Subject : UTL_Q51-Q65_KRTGTMATH

Question ID:- 51

Options:-

.1, Option ID :- 201,

. 2, Option ID :- 202,

. 3, Option ID :- 203,

. 4, Option ID :- 204,

Answer Given:- 1, Option ID : -201

Question ID:- 52

‘ pH'Wl'^SC'l ’ ‘ yi =wl4tr« îcl ’ favFTCl Rafail f ?
(1) ife
(2)

(3) URMCHH
(4) fqcbi'H

A limitation of constructivist approach is that :
(1) Standardized curriculum is ignored.
(2) Teacher acts as a facilitator.
(3) Collaborative learning takes place.

(4) Self learning is emphasized.

-SHNH f̂hn "SR? 11%~

(1) ^ T̂Ttft 1? I

(2) 'hlM difdl % I

(3) TTF^rrfJTcrr srfwr^11
(4) T^-3TRFFJ 'R f^TT ^MT 1? I

What is the way of modifying behaviour through Operent Conditioning ?
(1) Repetion through drill
(2) Variation of providing reinforcements
(3) Refinement of existing behaviours
(4) Developing liking for some behaviour
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Options:-

.1, Option ID :- 205,

. 2, Option ID :- 206,

. 3, Option ID :- 207,

. 4, Option ID :- 208,

Answer Given:- 4, Option ID : -208

Question ID:- 53

Options:-

.1, Option ID :- 209,

. 2, Option ID :- 210,

. 3, Option ID :- 211,

. 4, Option ID :- 212,

Answer Given:- 2, Option ID : -210

Question ID:- 54

di-st^lRid ) % ET R̂ it 'RFFR FFeFf FiT rRNiT FFT %?
(1) sF^rrcr % ET«R 3 JJ-KI^RI
(2) ^d4crH ¥FR FER R fFf*FTFT

(3) FcRlH °9F!?Kt’ R MREI4H

(4) 4it Ft <*R6K % f^ RTF FiRT

Employing project method is not suitable when :
(1) real life experiences are considered important.
(2) teacher finds it difficult to ensure participation of all students in it.
(3) development of self confidence among students is a priority.
(4) no external persuation is needed to attract the students toward learning.

HR-MI 'JMI farRi FiT RTRT F5RT TR ^=td FWt FIFT t *R-

(1) FRFfaF> #FF STJEFt' Fit FRF1T RTFT f I

(2) STWTFi ( F^lRR-ft F>t EETtFlit fjjdRMd F> fR R =blciHI^ ERJE FR I

(3) RF ÎIRRTI R 3TTR fFFFTE Ri =hRld FtR Fit FIFTHFid I Ft RTcft Ff I

(4) fFSTTRfFT Fit 3TRRE Fit 3R 3H|chP4d FER % fFETt FTFft 3TJR FR STR F̂FiFT F Ft I

Extrinsic motivation is preferred over intrinsic motivation because :
(1) It helps foster creativity.
(2) Parents and teachers often reward children for successful completion of learning tasks.
(3) It is longer lasting.
(4) It is based on taking pleasure in an activity.
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Options:-

.1, Option ID :- 213,

. 2, Option ID :- 214,

. 3, Option ID :- 215,

. 4, Option ID :- 216,

Answer Given:- 1, Option ID : -213

Question ID:- 55

Options:-

.1, Option ID :- 217,

. 2, Option ID :- 218,

. 3, Option ID :- 219,

. 4, Option ID :- 220,

Answer Given:- 2, Option ID : -218

Question ID:- 56

^icfRcf, eft 3Ft$TT srfiftRTT "SfRPHohcll ^ t <+MlT=h-
(1) Fi? ^ ĤlrH'+idl "ftcRTflcl f̂ Tf^FTcTT =Mdl 11
(2) Slf'F'FM̂ 3fR 3F*tmeh TfFT: ^ 3FPf 3fP*FR ^JCT ^R ^<R> K^11
(3) PM PFR cRT T ĉff % I

(4) P*>*f! Î RT 3 3TFM ''R 3TRTfpT ftcft 1? I

Important factors for development and sharpening of existing curricula do not include :
(1) Globalization
(2) Uniformity
(3) National Goals
(4) Natural and man made Calamities

y l̂fdcl 3fR^ *JTRR MFFf % =hK=hf F FFT ^P̂ HRICI Fft t?
(1) %5ffaRFT
(2)
(3) Wfa TO
(4) yi^ifddi 3pR HMd-PiPHd 3HIHdl <P

Which one of the following does not act as a limitation of Competency Based approach to
learning ?
(1) Designing activities and test items for such competencies may not always be practicable.
(2) Learning climates in all schools are not conducive for optimising learning.
(3) Remedial teaching is helpful for improving grades of low achievers.
(4) Outreach of teacher to all students is not possible due to varied pace of learning for each

student.
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Options:-

.1, Option ID :- 221,

. 2, Option ID :- 222,

. 3, Option ID :- 223,

. 4, Option ID :- 224,

Answer Given:- 2, Option ID : -222

Question ID:- 57

Options:-

.1, Option ID :- 225,

. 2, Option ID :- 226,

. 3, Option ID :- 227,

. 4, Option ID :- 228,

Answer Given:- 1, Option ID : -225

Question ID:- 58

STREET £['q^TcTF 3TT n̂iTcT dHHIH dE PtHfelRsld ^ RFET Eff %?
(1) qWFRF' % fcTET fsh^lU, 3fk WT ®HHl R<N o^N^lRob Riff ^IcfT % I

(2) RRF fa yield!*f RRFEF qidl«Uui 3#ETE ^dH % faq R??ETq> ??FcTT 11
(3) <5 H -dKlrM=b fW°T q>E 3Tf*ETE qiklcbrllRT % Tt5 Ĵ*IR " v̂EF % fan* •HSIddi 'gtcTT % I

(4) y <fad> faURlf qfF STRFR R^RF Efa *F" f F̂TcTT % d>K »>l 3?U||Hdi qfF REF fay|Rfc?F cT̂ qipF RER^F l^cfF
tl

Which one of the following statements is correct ?
(1) Mother tongue must be made the medium of instruction at Primary stage as children come to

school with enhanced vocabulary and it may help their quality of learning.
(2) Implementing three language formula may create complex problems.
(3) It is difficult to find suitable teachers to be able to use multilingualism.
(4) Children can not learn two or more languages at a time.

fanfaiRad 3Rt qfa-RT Rft t ?
(1) ET$*FM^ TfPlfRqi RR TR q^rf RRRR ddldl RRT dlfey, ddl'fat R^F RqF ^i«qidell % RTR fayield

3TFcT|f RfR vJd =hl RffcRTR ^iq -dl *F H^Mdl RE *td>dl % I

(2) fq-mqfa EVI^ell eTF^RE^ TF RfeeT UHRFFH ^F ft ER> d) 11
(3) Rl[ RIRTRF' ofTT -q^Fq^RRi^ RTPf dd^dd 3RdlH <=hl R F̂ *jpifd>e1 1? I

(4) R^f ER7 RER 3RF RF RfRRF RTRT37F’ RFF Riff RRi^11

Which is not a feature of 'Experiential Learning' ?
(1) Learning lies in the process
(2) Learning is a continuous process
(3) Learning takes place through logical arguments
(4) Learning is a holistic process
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Options:-

.1, Option ID :- 229,

. 2, Option ID :- 230,

. 3, Option ID :- 231,

. 4, Option ID :- 232,

Answer Given:- 3, Option ID : -231

Question ID:- 59

Options:-

.1, Option ID :- 233,

. 2, Option ID :- 234,

. 3, Option ID :- 235,

. 4, Option ID :- 236,

Answer Given:- 3, Option ID : -235

Question ID:- 60

PinPeiRsid 3 Ff 4 3T P*F R P T V H D I^%?
(1) srf F̂Fi yisti -m ^>T R?wii 6ldi %
(2) Srf F̂TR TJoF M! Mfsh^l %
(3) SlffepR dlPP =b deflcdi % PPZR ^^tcTT %
(4) 3#FR "Q^F RTtf yfsh^l 11

Which one of the following is not a feature of 'Continuous and Comprehensive evaluation' ?
(1) Formative evaluation is done informally using multiple techniques.
(2) Assessment of personal-social qualities is done on the basis of indicators of assessment and

checklist.
(3) Assessment of Scholastic areas is done in a formal way only to arrive at reliable decisions.

(4) School based evaluation of students covers all aspects of students' development.

PinPeiRad 3^ 4 RPt 3?K °dlHd> qydid-id ’ Pd^ddl t ?
(1) <-ddlcH=h *^f =bd ^ 3T^fi dd-Hl =hi 3RFT f̂ tT 11
(2) ^fdddi-'diHlPjIdb zjofl qq 3n°F̂ R, 3TRF> cFT % (rhiiddil 3pR Wcf-R^qt % 3TF4R FR %qi ITM % I

(3) sHt =FT 3niohcdd Pi >4dl R % Pd^ sfppqipzp ^ Pivm ^Idl % I

(4) 'faSJTfsfqf % PdSJkdd 3TT*TTfcl *jjrdl
’=hd % iddim % R ^̂llPHd^f I

Which one of the following is not associated with unit test ?
(1) Standardized achievement tests
(2) Diagnostic tests
(3) Summative assessment
(4) Prognostic tests

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 237,

. 2, Option ID :- 238,

. 3, Option ID :- 239,

. 4, Option ID :- 240,

Answer Given:- 4, Option ID : -240

Question ID:- 61

Options:-

.1, Option ID :- 241,

. 2, Option ID :- 242,

. 3, Option ID :- 243,

. 4, Option ID :- 244,

Answer Given:- 3, Option ID : -243

Question ID:- 62

PIHRIRSKI ^44T 4?ff ?> ?
(1) HM=hl<^d Rpl^R
(2) WiPi'+j

(3) 4PllcH=b 3i|cbdH

(4) T^fjJRTfacF

Which of the following is not an example of 'assessment of learning' ?
(1) Scholarship examination
(2) Recruitment tests
(3) Assessment of homework
(4) Annual examination

PinfdRad ^ 44T *sifw % 3Tf4>eH’ 4iT 4Ff %?
(1) TRtsji

(2) *Rcff
(3) ^^4»14 3H =bdH

(4) dlP4=h RTtelT

Which one of the following is not a characteristic of 'Assessment for learning' ?
(1) It is descriptive in nature.
(2) It expects students not to make errors.
(3) It provides for peer examination of their work.
(4) It identifies areas of strengths and of need for each student.
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Options:-

.1, Option ID :- 245,

. 2, Option ID :- 246,

. 3, Option ID :- 247,

. 4, Option ID :- 248,

Answer Given:- 1, Option ID : -245

Question ID:- 63

Options:-

.1, Option ID :- 249,

. 2, Option ID :- 250,

. 3, Option ID :- 251,

. 4, Option ID :- 252,

Answer Given:- 1, Option ID : -249

Question ID:- 64

PinfelRsld 3 Tf W * 37fWT % fpTP ^l =hcn ’ ^P̂ ^qcll^% ?
(1) ^ciuf^irHcb 4 <=hfcl^ 11
(2) ^ ^ Mdcfl H ^Fft 3TTSTI % I

(3) R? <FP£ ^rpff % feR Rrtsn <JMd«fcr =b<idl % i

(4) T̂? !Jlri|=h f r̂aTsff % 34̂ TeT W 3% RT̂ ĉTT TFPf f̂ Tlf̂ Tt'^W3FJ R̂cft 11

A teacher first gives some examples related to the concept and then asks about the rule/principle
governing it. She/he is adopting :
(1) Inductive approach
(2) Deductive approach
(3) Investigatory approach
(4) Explanatory approach

3P4l 4ch 4e<r) •Hefted'll % 'fPS 3q$<ul ^clT t 3?lT f*R RW Raff̂ cT f̂ Ff/fegJPT ^5dl % I^
3PRT wf-

(1) 3HMIH

(2) PH'imicMch 34 HIH

(3) ^ ill'llcH^ 3HHIH

(4) P<*=KU||cH4> 3MIMH

Individual attention is important in teaching-learning process because :
(1) Teacher training programmes emphasize it.
(2) It helps teachers to maintain discipline.
(3) Children develop at different rate and learn differently.
(4) Learners always learn better in group.
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Options:-

.1, Option ID :- 253,

. 2, Option ID :- 254,

. 3, Option ID :- 255,

. 4, Option ID :- 256,

Answer Given:- 3, Option ID : -255

Question ID:- 65

Options:-

.1, Option ID :- 257,

. 2, Option ID :- 258,

. 3, Option ID :- 259,

. 4, Option ID :- 260,

Answer Given:- 4, Option ID : -260

Subject : CCLE_Q66-Q80_KRTGTMATH

Question ID:- 66

fW°T-3TfsprR yfsh -MI oqf=K1 H <=h T̂H^TT f
(1) 37»TTW TTf̂ T^T11! =hl 4st> H fR ^R Rdl^f I

(2) T̂f? 3TWim=ht dif ®HIQ, TJsT^ Rs?i4dl 4Rdl % I

(3) 1%f̂ R cR PcjcbpRd^f 3fR SRPT-SRPT cRF Rf 4-H <sld H I

(4) 3#FFT̂ vrTf RcRf REJj? 4sd< Rlisl cl f I

If the students are not taking interest in the studies, the teacher should :
(1) report the matter to the principal and convey to the parents.
(2) advise students to take interest in studies for their own benefit.
(3) ask the students as to why are they not taking interest.
(4) ponder over the causes for lack of interest and take remedial measure.

3TSZPH 'pf di?t ^ T?f d>t-
(1) f^ldil-Md 'R^( MNl4 ^ft -dlfeiJ, cT®TT Rl? RTd "RTcfT—f'TclT <Td> n|-dd1 -dlP̂ M, I

(2) fdSfTfsfcff df?f Rf? Rdl£^-dlfeU,% 3PT^ f|d R TdTf 3 #ft -dlP̂ H I

(3) PdaTpsftrf ^ RfT -dlBu, %^ 'TdTl? 3 pff d# R?11
(4) fd̂ Uf^Tt 'gRT d % diRuil RT td̂ fR diRTI -dlP̂ M, 3pR <JH -dKlcH=b WI dRd I

Integrated Education of the Disabled Children (IEDC) has been merged with :
(1) DPEP
(2) RUSA
(3) RMSA
(4) RTE, 2009
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Options:-

.1, Option ID :- 261,

. 2, Option ID :- 262,

. 3, Option ID :- 263,

. 4, Option ID :- 264,

Answer Given:- 3, Option ID : -263

Question ID:- 67

Options:-

.1, Option ID :- 265,

. 2, Option ID :- 266,

. 3, Option ID :- 267,

. 4, Option ID :- 268,

Answer Given:- 2, Option ID : -266

Question ID:- 68

®neich7 f^T^TT (IEDC) faeTI t^TT W %?
(1) TZ\ it iV\ (DPEP)
(2) 3TR ^ (RUSA)
(3) 3?R ^IT (RMSA)
(4) m 3 t 2009

Famous scientists Stephen Hawking was suffering from :
(1) Parkinson's disease
(2) Amyotrophic Lateral sclerosis
(3) Sickle cell disease
(4) Multiple sclerosis

^[fdch FShfH ?ff̂ T Tfet
(1) FTf^RFT TFT
(2) q,fH4)dTrit)=ib <7d<e1

(3) fachd TFT
(4) Hcrelnd T f̂fffTRl

Which one of the following case needs guidance ?
(1) An academically bright student, who has failed in class XI after opting science.
(2) Class XI student of science stream who is not able to perform / do laboratory activities /

practical's.
(3) After opting science in class XI, a student who is showing the symptoms of academic anxiety.
(4) Class XI student of science stream who crams the scientific laws and formula.
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Options:-

.1, Option ID :- 269,

. 2, Option ID :- 270,

. 3, Option ID :- 271,

. 4, Option ID :- 272,

Answer Given:- 3, Option ID : -271

Question ID:- 69

Options:-

.1, Option ID :- 273,

. 2, Option ID :- 274,

. 3, Option ID :- 275,

. 4, Option ID :- 276,

Answer Given:- 3, Option ID : -275

Question ID:- 70

IdHPelRsld 3 f̂ T HIHcr) 3 t̂ 3H|etfq <*> dl ^Tcft 1? ?
(1) ftfeT̂ ^Pf T̂T t̂ W5f^ PcftfM fpR ŜJT-XI 3 3^clM iff W I

(2) P̂ H f^RT^3TSIT-XI °FT ^MpreiMf Pst̂ lM/y^Rl^^TTTCTT 11
(3) ŜJT XI f̂ 1WR P̂ T3pF UT5f fERTf % FT3UI Pc;^ldl % I

(4) Pci^H T̂T^T-XI W5f T̂t ^lPl =b Pd -MHI 3 f̂c TĴ f IZcTT f I

Which one of the following is not a psychological stressor ?
(1) Catastrophic event
(2) Social discrimination
(3) Sedentary lifestyle
(4) Poverty

PinPelRsld *¥ Pt o^N-
'^n T?3> H'il^lPldi 'Tift 1? ?

(1) 3TNTfit 'Erê TT

(2) «mrf3f*B

(3) 3TWl?ftcT '#SR#ft
(4) JK141

In a school library, the book stock should consist of curriculum - related non-fiction resources
which must be :
(1) Up to 50% of the total stock
(2) Up to 75% of the total stock
(3) adeast 40% of the total stock
(4) adeast 60% of the total stock
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Options:-

.1, Option ID :- 277,

. 2, Option ID :- 278,

. 3, Option ID :- 279,

. 4, Option ID :- 280,

Answer Given:- 4, Option ID : -280

Question ID:- 71

Options:-

.1, Option ID :- 281,

. 2, Option ID :- 282,

. 3, Option ID :- 283,

. 4, Option ID :- 284,

Answer Given:- 3, Option ID : -283

Question ID:- 72

^*ddi HSR f̂RHt %-HiHT -Hi fed! RHTHH SRT ^'JR HSR^fchn^yfd^ld CRT StHl Hll^?
(1) HSR % 50 MRI^ICI I

(2) Jd HSR % 75 yfcl^ld ddi I

(3) HSR ^>1 HvH ^ 40 yfd^ld I

(4) ^K4 HSR 1̂ ^TH ^ 60 yfd^ld I

Which one of the following topic cannot be taught, to the school students, through 'community as
a learning resource' ?
(1) Soap - preparation procedure
(2) Laws of reflection and refraction
(3) Concept of chemical bonding
(4) Concept of friction

3#FTH RTf F̂T % % HT^HH ^cil WR fdHRlRad ^ =̂ R-RT HSTHT^Hd>dl

t ?
(1) -Hl^d CHI') f r̂fH
(2) HUdcid 3?R fHHH
(3) OHMfidi 3TRH R3RHHI

(4) ^ HdicHdl

Who, among the following teachers is a reflective practitioner ?
(1) A teacher who is an expert in repairing electronic gadgets
(2) A teacher who always asks students to reflect on their future life
(3) A teacher who draws implications for his/her teaching from all kinds of life experiences
(4) A teacher who blindly follows the teaching methods learnt dining teacher training course
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Options:-

.1, Option ID :- 285,

. 2, Option ID :- 286,

. 3, Option ID :- 287,

. 4, Option ID :- 288,

Answer Given:- 3, Option ID : -287

Question ID:- 73

Options:-

.1, Option ID :- 289,

. 2, Option ID :- 290,

. 3, Option ID :- 291,

. 4, Option ID :- 292,

Answer Given:- 1, Option ID : -289

Question ID:- 74

fdR ST̂ IHdil’ Tl RRcff °Md^N=t> dl (fttefeR ^ RdS'ldO % ?
(1) R3> fteTO <JHcfr> < uiT ^T %
(2) R3F7 f?RTO T̂f te RfteT % RR R Rite Rit <=h^dl 1?
(3) R3T ^Rift TO% 4) C|H BTjtef ^ 3Rf^ fRT&TR %r[ fdf^disf Pddild tel %
(4) RRi %8TO # 3Rf f̂ %8TO gf^I^nil =bl4sbMl R Hldl f^T^T°T MRR? TO 3T§R?I: RRR RRRT %

A good teacher as a leader should :
(1) Involve all his students through participatory group activities to get best results
(2) Try to make balance between students and the advice of the principal
(3) Try to improve his teaching skills
(4) Try to attain the best degrees in education

RTf "te% TOT 3 TOT TORT RTffTQ, ?
(1) MRUIIH TRIRT RHikiRdi^f RRjfter URT $PI^ R?T wfRR RT^
(2) W? yNl4^Rcfll? % RpR h^dd TO RRTR R$!

(3) 3PT% fwR R?rwrf 3 TJRR TO TO R3:
(4) %an TOTO 3 tew ferft RRT TO RRRT te:
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Options:-

.1, Option ID :- 293,

. 2, Option ID :- 294,

. 3, Option ID :- 295,

. 4, Option ID :- 296,

Answer Given:- 2, Option ID : -294

Question ID:- 75

Which of the following combinations help a teacher build a vision for better school education ?
(i) Logical and abstract thinking ability
(ii) Exposure to varied life situations
(iii) A degree in philosophy
(iv) Thirty years of teaching experience
(v) Experience of visiting the worst and best teacher education institutions

(1) (i), (ii), (iii) and (v)
(2) (i), (ii), (iv) and (v)
(3) (i), (ii) and (v)
(4) (ii), (iv) and (v)

TTT ^fTR Tf TRT if I?t -Hc+icll 1? ?
(i) dlfi=h 3lk SFRTT

(ii) faf*FT

(iii) 3 fejft

(iv) cit?T Til M <obl =fTf 3^̂(v) <a<N TTR 'fyiSR f^T n̂ TRTRt % <*fflTrT R

(1) (i), (n), (iii) 3fR (v)

(2) (i), (H), (iv) ata (V)
(3) (i), (H) 3frt (v)
(4) (ii), (iv) 3fa (v)

Which one of the following will help maximum in enhancing the teaching learning ethos in a
school ?
(1) Making books other than text books reading compulsory
(2) Having open dialogue sessions on every educational and social issue with every teacher
(3) Strictly following the set time table and no wastage of time on field visits
(4) Mastering the course prescribed
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Options:-

.1, Option ID :- 297,

. 2, Option ID :- 298,

. 3, Option ID :- 299,

. 4, Option ID :- 300,

Answer Given:- 2, Option ID : -298

Question ID:- 76

Options:-

.1, Option ID :- 301,

. 2, Option ID :- 302,

. 3, Option ID :- 303,

. 4, Option ID :- 304,

Answer Given:- 3, Option ID : -303

Question ID:- 77

TfjcT f^FSffl-STRRTR c( iciiq <u| R?F %fFR R>RF fTR 3 FF R ®T^^iq R?lR WFTO RtRT ?
(1) TOR ^K1 =bi % 3He1|c< l 3FR 'JRT̂ f % R?f SffTO^
(2) y^=b fW=F % RTR|R fFf*TO sfhC RTRlfTO^ RT Ts^ "RRf TFR 3MlfaRT R7RFF

(3) &R WI RT TFRR TO R RRrF ftT RRZj^(uff RTflf R RTFR RRRT

(4) 1RR RR RiRf "*¥ HK -’ ldrfl RFRT RRRT

'Mil

Who among the following be preferred to make the school time table ?
(1) The Physical education teacher
(2) The drawing and painting teacher
(3) The mathematics teacher
(4) The vice principal

fro R' Tl fRvR RRR HIRR) RRTR R’ yiRfa=hdl Rl RTTRt RTfRR ?
(1) UlflR* 1RFSJT RTF 3R2TTW

(2) fr̂ 'Fri R>T RWTTTO

(3) 4 lPuld RTF 3RRIR5F

(4) RR RRFTOFT^

Subjects like Maths and English should be taught in which period ?
(1) First period
(2) Period just before recess
(3) Second period
(4) Last period
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Options:-

.1, Option ID :- 305,

. 2, Option ID :- 306,

. 3, Option ID :- 307,

. 4, Option ID :- 308,

Answer Given:- 1, Option ID : -305

Question ID:- 78

Options:-

.1, Option ID :- 309,

. 2, Option ID :- 310,

. 3, Option ID :- 311,

. 4, Option ID :- 312,

Answer Given:- 3, Option ID : -311

Question ID:- 79

JlFuld 3fR ssf| fcjq -4 fdvH dilcu
'

^l M »SH< 'dl'l n̂f^Tl ?
(1) Tf «R «hldfcl
(2) 3TPft ^gl ^ 4^d =bldi^l f̂
(3) fed I 4 =bldid
(4) -dTdM =bldid

Which document discussed Multilingualism and the power of language ?
(1) Kothari Commission
(2) Ram Murti Committee
(3) NPE-1986
(4) NEP-2020

f̂ T d’Klfe 'd ^ ofTcT t ?
(1) dilcsiO di4hi
(2) TR dfHfd
(3) NPE-1986
(4) NEP-2020

In whose context we talk specifically of safe and secure environment for children in schools ?
(1) Deprived children
(2) Tribal children
(3) Rural children
(4) Handicapped children

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 313,

. 2, Option ID :- 314,

. 3, Option ID :- 315,

. 4, Option ID :- 316,

Answer Given:- 4, Option ID : -316

Question ID:- 80

Options:-

.1, Option ID :- 317,

. 2, Option ID :- 318,

. 3, Option ID :- 319,

. 4, Option ID :- 320,

Answer Given:- 3, Option ID : -319

Subject : Maths_Q81-Q180_KRTGTMATH

Question ID:- 81

'JJ1? ^lcllcKul^ T̂cT fa^hcl : f =h*i =li "*¥^ % ?
(1) cifad «< TX)

(2) *lfawl OITCJ

(3) illM) ul

(4) f^oqpr

In which field of education, maximum innovations have been done ?
(1) Primary school education
(2) Middle school education
(3) Secondary school education
(4) Senior secondary school education

f?T§TT % fsF̂ T Sfa '*T3ff*T3> Hc|NI< f^FTir 7TIT f ?
(1) Pficl
(2) TfjcT %3JI

(3) 'PTKTftra'^jcT %^T

(4) t?r^n

ss ^„ 4 6 ir ><If n= 2? x 34 X 7 X (15) , then number of consecutive zeros in n are : •
(1) 4
(2) 3
(3) 5
(4) 6
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Options:-

.1, Option ID :- 321,

. 2, Option ID :- 322,

. 3, Option ID :- 323,

. 4, Option ID :- 324,

Answer Given:- 2, Option ID : -322

Question ID:- 82

Options:-

.1, Option ID :- 325,

. 2, Option ID :- 326,

. 3, Option ID :- 327,

. 4, Option ID :- 328,

Answer Given:- 4, Option ID : -328

Question ID:- 83

^n = 23 x 34 x 7x (15)bt, eft n % shHHl^ t :
(1) 4
(2) 3
(3) 5
(4) 6

H.C.F. of 210 and 55 is expressed as 210 X 5+ 55.V. Then value of x is :

210
(1) 11
(2) - 20

211
(3) 11

209
(4) 11

210 55 % H.C.F. 210 x 5 + 55.V ^ ^TT THHTT % I ,v "RH 1? :

210
(1) 11
(2) - 20

211
(3) 11

209
(4) 11
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Options:-

.1, Option ID :- 329,

. 2, Option ID :- 330,

. 3, Option ID :- 331,

. 4, Option ID :- 332,

Answer Given:- 1, Option ID : -329

Question ID:- 84

Options:-

.1, Option ID :- 333,

. 2, Option ID :- 334,

. 3, Option ID :- 335,

. 4, Option ID :- 336,

V2 + y/7 .
ls :The number

(1) an irrational number
(2) a rational number
(3) an integer
(4) a natural number

t :V2 - V7

(1) TRsdT

(2) MRA -M FAST
(3) T?=F

(4) yi <jici HV-II

By Fundamental theorem of Arithmetic, if p is a prime number and it divides q2, q>0, then :
(1) p divides q
(2) p2 divides q2

(3) q divides p
(4) q2 divides p2

<H <*) JlPuld dft 3TPfR*Jd TPfcf % 3t^K, p AtsMI % sflT q2^t pTHlPdd =t> <dl 1?, 'jHpfc q>0 t,

dt :

(1) p, q dA Pd'HlPdd I

(2) p2, q2dA fa'HlPdd dAdt I

(3) q, p dA t̂ r̂rf̂ RT dRdt 11
(4) q2, p2dA fddrfdd d)<dl % I
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Answer Given:- 1, Option ID : -333

Question ID:- 85

Options:-

.1, Option ID :- 337,

. 2, Option ID :- 338,

. 3, Option ID :- 339,

. 4, Option ID :- 340,

Answer Given:- 2, Option ID : -338

Question ID:- 86

Choose the number which has non-terminating repeating decimal expansion.
11(1)
80

45(2)
360

63(3)
240

93(4)
420

f̂ cbl MR 11
11(1)
80

45(2)
360

63(3)
240

93(4)
420

Which of the following numbers is a prime number ?
(1) 233
(2) 253
(3) 247
(4) 377

fHHfdRsid 33 # WsRI R̂sRT t?
(1) 233
(2) 253
(3) 247
(4) 377
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Options:-

.1, Option ID :- 341,

. 2, Option ID :- 342,

. 3, Option ID :- 343,

. 4, Option ID :- 344,

Answer Given:- 1, Option ID : -341

Question ID:- 87

Options:-

.1, Option ID :- 345,

. 2, Option ID :- 346,

. 3, Option ID :- 347,

. 4, Option ID :- 348,

Answer Given:- 4, Option ID : -348

Question ID:- 88

If a, p are zeroes of the polynomial J\x ) = x2 — p(*+1) - 9, then value of (a + 1) (p + 1) is :
(1) 7
(2) 10
(3) - 8
(4) 8

^ Ŵ̂ f{ x ) = x2 - p( x + l ) -9 ocsfapt, eft (a +1) (p +1) t :
(1) 7
(2) 10
(3) - 8
(4) 8

If (4)2a: 1 - (16)* 1 = 384, then value of x is :

(1)\4
(2) 2

(3) ±1
4

(4) 2.5
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Options:-

.1, Option ID :- 349,

. 2, Option ID :- 350,

. 3, Option ID :- 351,

. 4, Option ID :- 352,

Answer Given:- 4, Option ID : -352

Question ID:- 89

Options:-

.1, Option ID :- 353,

. 2, Option ID :- 354,

. 3, Option ID :- 355,

. 4, Option ID :- 356,

Answer Given:- 2, Option ID : -354

Question ID:- 90

^ (4)2*-1-(16)*-1=3841, ^ x ^TRTT t :

« !
(2) 2

(3) £4
(4) 2.5

x and 1/ are two positive real numbers such that 8a3+ 271/3= 730 and Zr2!/ + 3.n/2=15, then value
of 2x+3y is :
(1) 9
(2) 10
(3) 11
(4) 8

x >/ ^ fcMicHeb f 8x3 + 27y3=730 3?R Zr2!/ +?>xy2 =15 t, 2ac +3i/ ^FTT iTH

t :
(1) 9
(2) 10
(3) 11
(4) 8
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Options:-

.1, Option ID :- 357,

. 2, Option ID :- 358,

. 3, Option ID :- 359,

. 4, Option ID :- 360,

Answer Given:- 3, Option ID : -359

Question ID:- 91

Options:-

.1, Option ID :- 361,

. 2, Option ID :- 362,

. 3, Option ID :- 363,

. 4, Option ID :- 364,

Answer Given:- 4, Option ID : -364

1
j=, then value of x3-6x2 +12.v — 8 is :

2 - 73If .v =

(1) 2 73
(2) 6

(3) 3 73
(4) 4 73

1 t, cTT x3-6x2 + IZv — 8 % :^ .v =
2 - 73

(1) 2 73
(2) 6

(3) 3 73
(4) 4 73

One of the factors of (25x2 —1) + (1+5x)2 is :
(1) .t + 5
(2) 5-x
(3) 5x-1
(4) 5x +1

(25x2-l) + (l + 5x)2 T̂
(1) x + 5
(2) 5 — x
(3) 5x-1
(4) 5x +1
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Question ID:- 92

Options:-

.1, Option ID :- 365,

. 2, Option ID :- 366,

. 3, Option ID :- 367,

. 4, Option ID :- 368,

Answer Given:- 1, Option ID : -365

Question ID:- 93

Options:-

.1, Option ID :- 369,

. 2, Option ID :- 370,

. 3, Option ID :- 371,

. 4, Option ID :- 372,

Answer Given:- 2, Option ID : -370

If the zeroes of the quadratic polynomial x2 + (a +1) x + b are 2 and -3, then :
(1) a = 0, b = — 6
(2) a = 2, b = -6
(3) a =5, b = -1
(4) a = -7, b= -1

fg^fTcT x2 + (a +1) *+ b %^1̂ 2 3% — 3 eft :
(1) a = 0, b = — 6
(2) a = 2, b= — 6
(3) a = 5, b = - 1
(4) a = — 7, b= -l

If in a polynomial .r2- (k + 6) x + 2 (2k-1), sum of zeroes is equal to half their product, then value
of k is :
(1) 6
(2) 7

8(3)|
(4) 4

x2 — (k + 6) x + 2 (2k —1) % 33 33% 4J)
UM »+>en % 33$ % ®KI®K H, % k 333H H :

(1) 6
(2) 7

<3) f
(4) 4
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Question ID:- 94

Options:-

.1, Option ID :- 373,

. 2, Option ID :- 374,

. 3, Option ID :- 375,

. 4, Option ID :- 376,

Answer Given:- 2, Option ID : -374

Question ID:- 95

Options:-

.1, Option ID :- 377,

. 2, Option ID :- 378,

. 3, Option ID :- 379,

If a linear equation has solutions (-3, 3), (2, -2) and (4, -4) then it is of the form :
(1) y - x=0
(2) y + x=0
(3) 2*+ i/ +3= 0
(4) x + 2y — 3= 0

^ (-3, 3), (2, -2) (4, -4) t, eft ^ ;

(1) y - x = 0
(2) y +*= 0
(3) 2x +y +3= 0
(4) x + 2y-3=0

The graph of the linear equation 2.r +3i/ =8 cuts y-axis at the point :

(!'°)(i)

(2) (4, 0)
(3) (0, 4)

H)(4)

tRa+) *w1=b<ul 2X + 3y =8 ^F>T Vilely y-318J =Pt fSRT Tt <=hl«idl %, W % :

(f °)(1)

(2) (4, 0)
(3) (0, 4)

K)(4)
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. 4, Option ID :- 380,

Answer Given:- 4, Option ID : -380

Question ID:- 96

Options:-

.1, Option ID :- 381,

. 2, Option ID :- 382,

. 3, Option ID :- 383,

. 4, Option ID :- 384,

Answer Given:- 2, Option ID : -382

Question ID:- 97

Options:-

.1, Option ID :- 385,

. 2, Option ID :- 386,

. 3, Option ID :- 387,

. 4, Option ID :- 388,

Answer Given:- 3, Option ID : -387

Question ID:- 98

Which of the following option expresses 5y-8x = 7 (x + y)-9 in the from ax+ by +c = 0 :
(1) — x +12y-9 = 0
(2) 15x + 2y — 9 = 0
(3) 15x — 4y — 9 = 0
(4) — x +6y-9 = 0

fdnRiRsid 3^ ^ Pd =b<rM 5y-8x =7 (x + y)-9 ax + by + c = 0 % ^9 H<P^d ^TdT 1?

(1) — x +12y — 9 = 0
(2) 15x + 2y-9 = 0
(3) 15x — 4y — 9 = 0
(4) -x +6y-9= 0

If the point (2k-3, k +1) lies on the linear equation 2x-3y +12= 0 then value of k is :
(1) 2
(2) 3
(3) -3
(4) -1

^^ (2k-3, k +l)1tei 2.v-3y +12 = 0^ t, cfl k t :
(1) 2
(2) 3
(3) -3
(4) -1
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Options:-

.1, Option ID :- 389,

. 2, Option ID :- 390,

. 3, Option ID :- 391,

. 4, Option ID :- 392,

Answer Given:- 2, Option ID : -390

Question ID:- 99

Options:-

.1, Option ID :- 393,

. 2, Option ID :- 394,

Graphically, the two linear equation 3x + i/ — 6 = 0 and 3*— y + 6 = 0, with .v-axis will
enclose a :
(1) equilateral triangular region
(2) isosceles triangular region
(3) scalene triangular region
(4) right angle triangular region

"\Rg =b PHl=h <.ul 3a + 1/-6= 0 3x-y + 6 = 0, a-STSJ % PTP t> :

(1)
(2)
(3)
(4) <HH =blul

If pair of linear equations
a*+ 3y + (3-a) =0,
12a + at/- a = 0
has infinitely many solutions, then value of a is :
(1) 6, - 6
(2) 0, 6
(3) 6
(4) -6

pfc lRa=h UHI'M'JH % yp
ax+ 3y+ (3-a) =0,
12a + ai/-a = 0
% 3inRfHd ¥P P t, eft a PH %
(1) 6, -6
(2) 0, 6
(3) 6
(4) -6

:
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. 3, Option ID :- 395,

. 4, Option ID :- 396,

Answer Given:- 3, Option ID : -395

Question ID:- 100

Options:-

.1, Option ID :- 397,

. 2, Option ID :- 398,

. 3, Option ID :- 399,

. 4, Option ID :- 400,

Answer Given:- 3, Option ID : -399

Question ID:- 101

Cost of 15 pens and 8 pencils is Rs. 289, whereas cost of 8 pens and 15 pencils is Rs. 240. The cost
of 3 pens and 3 pencils (in Rs) will be.

(1) 76
(2) 96
(3) 69
(4) 49

15 Tfa 8 ^ 289 IF. 'jHf'b 8 "fa 15 ^>1 240^% I 3 3 îl
(WTf ^' ) #TT :
(1) 76
(2) 96
(3) 69
(4) 49

Solution (x, y) of pair of linear equations :
(a +c) x- (a-c) y =2ab
(a +b) x- (a-b) y = 2ab, is :
(1) (a, -a)
(2) ( c, c)
(3) ( -b, b)
(4) (b, -b)

% '5IR
(a +c) x — (a-c) y = 2ab
(a + b) x- (a -b) t/ = 2ab

^ ( x, y ) t, ^ ( x, y) t :

(1) (a, -a)
(2) (-C, c)
(3) (-b, b)
(4) (b, -b)
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Options:-

.1, Option ID :- 401,

. 2, Option ID :- 402,

. 3, Option ID :- 403,

. 4, Option ID :- 404,

Answer Given:- 4, Option ID : -404

Question ID:- 102

Options:-

.1, Option ID :- 405,

. 2, Option ID :- 406,

. 3, Option ID :- 407,

. 4, Option ID :- 408,

Answer Given:- 3, Option ID : -407

Question ID:- 103

If x=3, i/ =l is a solution of a pair of lines x-4i/ + p = 0 and 2r + i/-q — 2 = 0 , then the relation
between p and q is :
(1) 2p = q
(2) p = 2q
(3) 5p = q
(4) p =5q

*-4i/ + p = 0 2rt + y-q-2= 0 T̂ x=3, ]/ =! %, cff p 3ftl q % qfa TR*T % :
(1) 2p = q
(2) p =2q
(3) 5p = q
(4) p =5q

The area of a rectangle gets increased by 45 m2, if its length is reduced by 4 m and breadth is
increased by 5 m. If length of rectangle is increased by 3 m and breadth is reduced by 4 m then
area decreases by 67 m2. Length of rectangle (in metres) is :
(1) 21
(2) 26
(3) 22
(4) 25

3TFRT^ eTRlf 4 m 3ff7 ^t 5 m t^fT RRTT eft 3 45 m2 Well % I qf?
3TO 3 m qST f^TI WP l̂ 4 m f^TT WP eft^4->d 67 m2^ T̂Tcft
i? i efRif i? :

(1) 21
(2) 26
(3) 22
(4) 25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 409,

. 2, Option ID :- 410,

. 3, Option ID :- 411,

. 4, Option ID :- 412,

Answer Given:- 4, Option ID : -412

Question ID:- 104

Options:-

.1, Option ID :- 413,

. 2, Option ID :- 414,

. 3, Option ID :- 415,

. 4, Option ID :- 416,

Answer Given:- 2, Option ID : -414

Question ID:- 105

The pair of linear equations;
3y= — 4x +1
and 3x = Ay-18
represents two lines which are :
(1) parallel
(2) intersecting at (-2, 3)
(3) coincident
(4) intersecting at (3, -2)

3y= — 4x +l
3flT 3x =4t/ —18

^1 '3T+T ft 1%
(1) TORI I

(2) (-2, 3) tR Trfcf^ f I

(3) T O f l f l
(4) (3, -2) TT TffcTS^ f̂t f I

:

:

If the roots of the quadratic equation 9X2 + 6kx + 4 = 0 are equal, then the value of k is :
(1) -2 or 0
(2) 2 or 0
(3) 2 or -2
(4) 3 or -3
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Options:-

.1, Option ID :- 417,

. 2, Option ID :- 418,

. 3, Option ID :- 419,

. 4, Option ID :- 420,

Answer Given:- 3, Option ID : -419

Question ID:- 106

Options:-

.1, Option ID :- 421,

. 2, Option ID :- 422,

. 3, Option ID :- 423,

. 4, Option ID :- 424,

Answer Given:- 4, Option ID : -424

Question ID:- 107

^fgsira ^H1 <*KuI 9X 2 + 6kx + 4 = 0 % Tjjl

(1) -2 ^T 0

(2) 2^ 0

(3) 2 1̂ -2

(4) 3^ -3

f, eft k ifiT iTH t :•HHM

The roots of the quadratic equation x2 + x-p (p +1) = 0 are :
(1) -p, - (p +1)
(2) p, p + 1
(3) -p, p+1
(4) p, - (p +1)

fgEJTcT x2 + JC-p (p + l) =0 %ii5clt :

(1) -p, - (p +1)
(2) p, p + l
(3) -p, p + 1
(4) p, - (p +1)

If — 2 is a common root of the quadratic equations ai/2 +ay +3= 0 and t/2+ t/ + b =0 then a2b is :
(1) 3

9(2)
2

(3) |
(4) - 6
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Options:-

.1, Option ID :- 425,

. 2, Option ID :- 426,

. 3, Option ID :- 427,

. 4, Option ID :- 428,

Answer Given:- 2, Option ID : -426

Question ID:- 108

Options:-

.1, Option ID :- 429,

. 2, Option ID :- 430,

femcl at/2 + at/ +3= 0 3^ t/2 +1/ +b = 0 ^>1 tjef — 2 eft a2b % :
(1) 3

9(2)
2

9(3) f
(4) -6

Which constant must be added and subtracted to solve the quadratic equation

9x2 + — x — yjl = 0 / by the method of completing the square ?
4

9(1)
64

1(2) ±

1(3)
64

(4) 18

fsl l̂ld <HH1cb< ul + — x — ypl = 0 r cl1! CHI'!^F>t fafV s?cl % leriy, l^tvH i\\k\ 'qiT
4

f̂rsi Md-Ml 5̂THI

9(1)
64

1(2) j
1(3)
64

(4) 48
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. 3, Option ID :- 431,

. 4, Option ID :- 432,

Answer Given:- 3, Option ID : -431

Question ID:- 109

Options:-

.1, Option ID :- 433,

. 2, Option ID :- 434,

. 3, Option ID :- 435,

. 4, Option ID :- 436,

Answer Given:- 2, Option ID : -434

Question ID:- 110

Which of the following is a quadratic equation ?

2X2 = (5- X) (2X -|)(1)

(2) x3-x2=(x-l)3

(3) (k + l) x2 +|x

(4) x2+ 2x + 1= (4 — x)2+ 3

= 7, k = -1

PinRiRsid ^ fgw <=^><ui H ?

2*2 = (5 - X) (2I -|)(1)

(2) x3-x2 = (x-l)3

(3) (k + 1) x2 +|x = 7, k = -1

(4) x2+ 2x + 1 = (4- x)2+ 3

Solution of the quadratic equation;

2x2 + 6 y/3 x — 60 = 0 is given by :

(1) i S r - S S
(2) 5 S, — 2S
(3) 5, -3&
(4) -3, 5 V3
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Options:-

.1, Option ID :- 437,

. 2, Option ID :- 438,

. 3, Option ID :- 439,

. 4, Option ID :- 440,

Answer Given:- 1, Option ID : -437

Question ID:- 111

Options:-

.1, Option ID :- 441,

. 2, Option ID :- 442,

. 3, Option ID :- 443,

. 4, Option ID :- 444,

Answer Given:- 1, Option ID : -441

Question ID:- 112

fg T̂TcT

2x2 + 6 J3 x - 60 = 0

^HFT t :

(1) 2 V3, - 5 V3

(2) 5 V3, - 2 V3

(3) 5, - 3 >/3
(4) — 3, 5 J3

If the zeroes of the quadratic polynomial a.r2 + bx +c, where c*0 are equal, then :
(1) c and a have same signs
(2) c and a have opposite signs
(3) c and b have opposite signs
(4) c and b have same signs

fs^Mld a^+ bs+c, '*Hf =bc*01|% flHH f, eft :

(1) c 3|R a % UHH 1?

(2) c 3fR a % fdM^d f^Tf 1?

(3) c 3fR b % f T̂Ttd t
(4) c sftl b % 1?

The sum of n terms of A.P. is n2 + 3n, then common difference of A.P is :
(1) 2
(2) 3
(3) 1.5
(4) 0.5
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Options:-

.1, Option ID :- 445,

. 2, Option ID :- 446,

. 3, Option ID :- 447,

. 4, Option ID :- 448,

Answer Given:- 1, Option ID : -445

Question ID:- 113

Options:-

.1, Option ID :- 449,

. 2, Option ID :- 450,

. 3, Option ID :- 451,

. 4, Option ID :- 452,

Answer Given:- 2, Option ID : -450

Question ID:- 114

A.P. %n^^>T n2 + 3nt, A.P. ^>T 3RP 1? :
(1) 2
(2) 3
(3) 1.5
(4) 0.5

In the sequence an given by 114, 109, 104,

(1) 21
(2) 23
(3) 24
(4) 22

the first negative term will be :

Man^t %114, 109, 104,

(1) 21
(2) 23
(3) 24
(4) 22

%, P WT qc[ ^PTT :

The 7th term from the end of the sequence -8, -5, -2, , 88 is :
(1) 67
(2) 70
(3) 73
(4) 72
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Options:-

.1, Option ID :- 453,

. 2, Option ID :- 454,

. 3, Option ID :- 455,

. 4, Option ID :- 456,

Answer Given:- 2, Option ID : -454

Question ID:- 115

Options:-

.1, Option ID :- 457,

. 2, Option ID :- 458,

. 3, Option ID :- 459,

. 4, Option ID :- 460,

Answer Given:- 4, Option ID : -460

Question ID:- 116

-8, -5, -2, , 88 3Tcf % sjU ^%
(1) 67
(2) 70
(3) 73
(4) 72

:

The sum of all two digit numbers which when divided by 4, leave 1 as remainder is :
(1) 1254
(2) 1166
(3) 2420
(4) 1210

3P®TT3Tf f^H=hl 4^ v̂Ff Tl 1 UplT %, f :
(1) 1254
(2) 1166
(3) 2420
(4) 1210

Sum of p terms of AP is q and sum of q terms of AP is p. Common difference of A.P. is :

(1) ---q p

(2) zii£±sl
pq

2 (P + q)(3)
pq

2 2
(4) -+-q p
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Options:-

.1, Option ID :- 461,

. 2, Option ID :- 462,

. 3, Option ID :- 463,

. 4, Option ID :- 464,

Answer Given:- 4, Option ID : -464

Question ID:- 117

Options:-

.1, Option ID :- 465,

. 2, Option ID :- 466,

. 3, Option ID :- 467,

. 4, Option ID :- 468,

Answer Given:- 3, Option ID : -467

Question ID:- 118

A.P. % p qqt qif 4b I q 3f|R q qqt qq qpl p % I A.P. qq ^14 3PrR % :

2 2(1) q p

- 2 (p + q )
(2)

pq

2 (p + q)
(3)

pq

2 2
4) - + -

q p

The fourth term of an A.P. Ls three times the first term and seventh term exceeds twice the third
term by 1. Tenth term of A.P. will be :
(1) 22
(2) 23
(3) 21
(4) 29

A.P. qq qftar qq q?^ qq qq cftq t sfli iw qq, cfjrft qq % q 1 srfqqi 11 A.P. qq qqqT qq t :
(1) 22
(2) 23
(3) 21
(4) 29
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Options:-

.1, Option ID :- 469,

. 2, Option ID :- 470,

. 3, Option ID :- 471,

. 4, Option ID :- 472,

Answer Given:- 4, Option ID : -472

Question ID:- 119

Options:-

.1, Option ID :- 473,

. 2, Option ID :- 474,

. 3, Option ID :- 475,

. 4, Option ID :- 476,

Answer Given:- 4, Option ID : -476

Question ID:- 120

Two points having same abscissa but different ordinates lie on :
(1) x-axis
(2) a line parallel to x-axis
(3) y-axis
(4) a line parallel to y-axis

'qq TP-TH iff cblli f^PT s?t cl!^ fPIcf :

(1) x-m
(2) x-3^T % RRTcR R§7 TR

(3) \/-m Rt

(4) y-3T$J % ^sTT TR

The number of linear equations in x and y which satisfy x =1 and y =5 is :
(1) Only one
(2) Two
(3) Three
(4) Infinitely many

x-1, y = 5 ^ RRi x afR y % ROMI ffrrf :

(1) %Rvf RTT
(2) it
(3) cfa
(4) 3pf ‘3^, Rfcf
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Options:-

.1, Option ID :- 477,

. 2, Option ID :- 478,

. 3, Option ID :- 479,

. 4, Option ID :- 480,

Answer Given:- 3, Option ID : -479

Question ID:- 121

If the point P (2,1) lies on the line segment joining points A (-1, 7) and B (4, -3), then :

(1) BP =|AB

(2) AP =|AB

(3) AP = - BP
2

(4) PB =|AP

^ J^ P (2/ l), f^3Tf A (-l, 7) 3fa B (4, -3) ^ Tt , <Tt :<au -a
3BP = - AB

The coordinates of a point which is equidistant from O (0, 0), A (0, 22) and B (8, 0) is :

RM(i)

(2) (11, 4)
(3) (4, 11)

b f )(4)
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Options:-

.1, Option ID :- 481,

. 2, Option ID :- 482,

. 3, Option ID :- 483,

. 4, Option ID :- 484,

Answer Given:- 3, Option ID : -483

Question ID:- 122

Options:-

.1, Option ID :- 485,

. 2, Option ID :- 486,

. 3, Option ID :- 487,

. 4, Option ID :- 488,

Answer Given:- 2, Option ID : -486

Question ID:- 123

f^cj % fH^li=h *f[ 0(0, 0), A (0, 22) 3?R B (8, 0) ^ ^^R t, t :

(1) P' 4
2

(2) (11, 4)
(3) (4, 11)

I T)(4)

Point which is equidistant from point A (4, 5) and B (-2, 3) lies on the linear equation :
(1) 3x — y —7 = 0
(2) 3x + y -7 = 0
(3) 2x — y +7 = 0
(4) 3x + 2 y +7 = 0

A(4, 5) B( -2, 3) ^ faf^, <HHl «=b<ul Tl ftsjcl 1?, 1̂? % :
(1) 3x - y -7 = 0
(2) 3x + y —7 = 0
(3) 2x — y +7 = 0
(4) 3x + 2 y +7 = 0

If the mid point of the line segment joining (a, p + 1) and (a+ 1, p + 2) is |-|, , then the mid point

of line segment joining (a-1, p +1) and (a +1, P-1) is :
(1) (1, 1)
(2) (1, -2)
(3) (2, 1)
(4) (3, 1)
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Options:-

.1, Option ID :- 489,

. 2, Option ID :- 490,

. 3, Option ID :- 491,

. 4, Option ID :- 492,

Answer Given:- 1, Option ID : -489

Question ID:- 124

Options:-

.1, Option ID :- 493,

. 2, Option ID :- 494,

. 3, Option ID :- 495,

. 4, Option ID :- 496,

Answer Given:- 3, Option ID : -495

Question ID:- 125

^ (a, p + 1) affr (a + 1, (5 + 2) ^ =F7T -qeq f^ j|,|J t, eft (ex -1, (5 + 1)

(a + 1, (5 — 1) f̂ft 4l 4^ T̂et 3FI 1? :
(1) (1, 1)
(2) (1, -2)
(3) (2, 1)
(4) (3, 1)

Euclid stated that "all right angles are equal to each other" in the form of :
(1) an axiom
(2) a definition
(3) a postulate
(4) a theorem

^t f l
(1) 3Tf^tcT
(2) qfwFn

(3) 3Tfwp*n
(4)

Boundaries of solids are :
(1) surfaces
(2) curves
(3) lines
(4) points
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Options:-

.1, Option ID :- 497,

. 2, Option ID :- 498,

. 3, Option ID :- 499,

. 4, Option ID :- 500,

Answer Given:- 1, Option ID : -497

Question ID:- 126

Options:-

.1, Option ID :- 501,

. 2, Option ID :- 502,

. 3, Option ID :- 503,

. 4, Option ID :- 504,

Answer Given:- 4, Option ID : -504

Question ID:- 127

(1) ^3

(2) BfsF

(3) \*m
(4) fsis

The angles (30-a)° and (125 + 2a)° are supplement to each other. Value of 'a' is :
(1) 20°

(2) 35°
(3) 40°
(4) 25°

(30-a)° (125+ 2a)° T3=F f I 'a' f̂iT BR t :
(1) 20°

(2) 35°
(3) 40°
(4) 25°

Which of the following statements is true ?
(1) If x° is the measure of an angle which is equal to its complement and \j° is the measure of an

yOangle which is equal to its supplement, then _ = o-5 •

y°

(2) In a triangle ABC, if ZB > ZC then AB > AC.
(3) Length of the median in a triangle to a side is less than the corresponding altitude.
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Options:-

.1, Option ID :- 505,

. 2, Option ID :- 506,

. 3, Option ID :- 507,

. 4, Option ID :- 508,

Answer Given:- 1, Option ID : -505

Question ID:- 128

Options:-

.1, Option ID :- 509,

PinRlRslcl 3^ ^ t?
(1) ^ x° RiT TIN % % 37R% RiPR % «KN< f 3fp \f ‘SSF ^WT RiT BN t T̂l 1% 3TR%

^I % T^%^R t ^|£- = 0.5% Iy°

(2) ABC^Bft ZB > ZC %, BtAB > AC% I

(3) 1?PJ5r BTf̂ NiT d®ll^, THTcT RN % I

(4) l , HHl
'
cK T*IT3Tt %^R yfd^c; % I ^ 3Tft % 3I$R: ^Wf RiT 3H jHM 4 : 5

11 RR BN 70° tl

In the figure, AB 11 PO and BC 11OQ. Value of 2x- y is :

A
P

B Lx y
c

130°
cf o

(1) 50°
(2) 80°
(3) 130°
(4) 100°

3TT=hfcTB' AB||PO 3^k BC||OQ % I 2v — yRR BTR % :

A
P

BA * y
c

130°

Cf o
(1) 50°
(2) 80°
(3) 130°
(4) 100°
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. 2, Option ID :- 510,

. 3, Option ID :- 511,

. 4, Option ID :- 512,

Answer Given:- 1, Option ID : -509

Question ID:- 129

Options:-

.1, Option ID :- 513,

. 2, Option ID :- 514,

. 3, Option ID :- 515,

. 4, Option ID :- 516,

Answer Given:- 3, Option ID : -515

Question ID:- 130

The angles of a triangle are in the ratio 4 : 5 : 6. The difference of largest and smallest angle is :
(1) 48°

(2) 30°

(3) 24°
(4) 36°

% %f°T 4 : 5 : 6 % 3hj,Hld if If I 3?R %TaI if 3TcF[ % :
(1) 48°

(2) 30°

(3) 24°

(4) 36°

In the figure, AB||CD. If ZABC = 105°, ZBED = 30°, then value of ZCDE = a is :

A C

B

(1) 105°

(2) 135°

(3) 115°

(4) 75°

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 517,

. 2, Option ID :- 518,

. 3, Option ID :- 519,

. 4, Option ID :- 520,

Answer Given:- 2, Option ID : -518

Question ID:- 131

Options:-

AB||CDtl^ZABC= 105°, ZBED = 30° t, <ft ZCDE =a t :

A C

B

(1) 105°

(2) 135°

(3) 115°

(4) 75°

In the figure, AB = AC, ZACD=115°. ZA is equal to :

DCB
(1) 45°

(2) 55°

(3) 50°

(4) 40°

3 AB = AC, ZACD = 115° tl ZA F̂T t :

DB C
(1) 45°
(2) 55°

(3) 50°

(4) 40°
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.1, Option ID :- 521,

. 2, Option ID :- 522,

. 3, Option ID :- 523,

. 4, Option ID :- 524,

Answer Given:- 3, Option ID : -523

Question ID:- 132

Options:-

.1, Option ID :- 525,

. 2, Option ID :- 526,

. 3, Option ID :- 527,

. 4, Option ID :- 528,

Answer Given:- 2, Option ID : -526

Question ID:- 133

Which of the following statements is wrong ?
(1) If the corresponding sides of two similar triangles are in the ratio 5 : 7, then their perimeters

are in the ratio 5 : 7.
(2) If the corresponding sides of two similar triangles are in the ratio 4 : 3, then their area are in

the ratio 4 : 3.
(3) If the ratio of the corresponding sides of two similar triangles is 3 : 5, then the ratio of their

corresponding altitudes is 3 : 5.
(4) In two similar triangles, if the ratio of their corresponding medians is 7 : 5, then the ratio of

their corresponding altitudes is 7 : 5.

PIHRIRSICI *¥ % =bh 'HI Mdd %?
(1) %1 Hhcf 5: 7% 3^Mic1 f, % T̂% MRHIH ) SFjqTrf 5 : 71%TT I

(2) %t HFTrl 4 : 3% ^jMId *¥ f, % '3R% ^lld *hcdl 4 : 3 I

(3) % HHHH f^if %1 HhcT if 3T^TTcT 3: 5 %, % f̂% Hhcf SFjHTrf 3:5 %PnI
(4) % IHTcI Hrfi4I =hIit 7 : 5% %, % ^EFT% %t%T% 3PjqfcI 7 : 5

i?Fn I

In AABC, AC2= 2AB2 and AB = BC, then ZC equals :
(1) 90°
(2) 60°
(3) 45°
(4) 30°

AABC % AC2=2AB2 cT«n AB = BC, ZC HR t :
(1) 90°
(2) 60°
(3) 45°
(4) 30°
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Options:-

.1, Option ID :- 529,

. 2, Option ID :- 530,

. 3, Option ID :- 531,

. 4, Option ID :- 532,

Answer Given:- 1, Option ID : -529

Question ID:- 134

Options:-

.1, Option ID :- 533,

. 2, Option ID :- 534,

. 3, Option ID :- 535,

. 4, Option ID :- 536,

Answer Given:- 2, Option ID : -534

Question ID:- 135

In figure, line l is the bisector of Z A. If AO =5 cm and AP= 4 cm, then OQ is equal to :

A
(1) 4 cm
(2) 3 cm
(3) 5 cm
(4) 2 cm

f^5f P'
, Z A l % I^AO =5 cm AP=4 cm t, eft OQ 1? :

A

(1) 4 cm
(2) 3 cm
(3) 5 cm
(4) 2 cm

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 537,

. 2, Option ID :- 538,

. 3, Option ID :- 539,

. 4, Option ID :- 540,

Answer Given:- 1, Option ID : -537

Question ID:- 136

In triangle ABC and DEC (see figure) if AB 11 ED, then AABC and ADEC are :

A

E
B C

D
(1) similar
(2) congruent
(3) both similar and congruent
(4) neither similar nor congruent

f^pT? ABC DEC (3TTffo AB||ED t, AABC 3?k ADEC :

A

E
B C

D
(1) TPT̂ fl
(2) f |
(3) 1PM ^FTf 11
(4) T eft H ^ I

Two buildings are standing opposite to each other on either side of the road. From a point on the
road, ladder reaches building's window which is12 m high from the ground. Keeping the foot of
the ladder at the same point, the ladder is turned on the other side of the road and it reaches a
window which is 9 m high from the ground. If the length of the ladder is 15 m, then the width of
the road (in m) is :
(1) 18
(2) 24
(3) 21
(4) 25
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Options:-

.1, Option ID :- 541,

. 2, Option ID :- 542,

. 3, Option ID :- 543,

. 4, Option ID :- 544,

Answer Given:- 3, Option ID : -543

Question ID:- 137

Options:-

.1, Option ID :- 545,

. 2, Option ID :- 546,

. 3, Option ID :- 547,

. 4, Option ID :- 548,

*is=b % 3t R 3TTRR HIH *} RT RRR11^4+ RI favdltR^^ *fl$ > RRR RR Rg -ŝ l RT H§R Ridl H RTI1R> *jfR
Tf 12 m <*>Rl|R1 % I Tfaft % RTR R t̂ RRt fR^ RT RRR R>1^Ffft 3TP URT RTTRT %, Rl RR *jfa^ 9 m R/RTf R^Ra4=bl R1 RfR RTcft % I Rfc R>t RlRlf 15 m %, Rt 1TRR> R>t 4lsi^ (m 3) % :

(1) 18
(2) 24
(3) 21
(4) 25

In a triangle ABC, PQ is drawn parallel to BC such that points P and Q lie on AB and AC
respectively. If PQ : BC = 2 : 5, then AP : PB is :

« !
(2) I
(3) |
(“) |2

RRi fRR̂ T ABC3, PQ R t̂ BC % RRTR1 RH RRR1 N̂fT RRT t% P 3ftlQ RvR T̂: AB 3?fe AC R1 f?RR f I RfR
PQ : BC = 2 : 5 t, R t A P : P B t :

» I
<2) I
(3) |
(4) |
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Answer Given:- 1, Option ID : -545

Question ID:- 138

Options:-

.1, Option ID :- 549,

. 2, Option ID :- 550,

. 3, Option ID :- 551,

. 4, Option ID :- 552,

Answer Given:- 3, Option ID : -551

Question ID:- 139

Options:-

.1, Option ID :- 553,

. 2, Option ID :- 554,

. 3, Option ID :- 555,

. 4, Option ID :- 556,

Answer Given:- 3, Option ID : -555

Which of the following statements is not true ?
(1) A square is a rectangle.
(2) If an angle of a parallelogram is one right angle, then each of the remaining angles is also a

right angle.
(3) If the diagonal of a parallelogram divides it into two isosceles triangle, then the parallelogram

is a rhombus
(4) The opposite angles of a parallelogram are bisected by its diagonals.

frR wrf 3^ Tn^^t?
(1) 3TRPT $lrtl 1? I

(2) Pfc TRTcR PPT pifal ^tcTT t, fit PTRFit % Pit11! Pt HH'+iVl ftP 11
(3) TP! +HHtd < pi! fq=hul f t̂ pt fp*plt PKdl %, fit

TFTPtJ^Pf T?[PT 1? I

(4) PHKK % P«j<S( PvPPt Pit PPfSPTfacl PiTcf l|I

In a quadrilateral PQRS, ZP + ZR =3 (ZQ + ZS). If ZP=120°, then measure of ZR is :
(1) 120 °

(2) 130°

(3) 150°

(4) 100°

PQRS f̂, ZP+ ZR =3 (ZQ+ ZS) tlPfp ZP=120° t, Pt ZR PH PTP t
(1) 120°

(2) 130°
(3) 150°
(4) 100°
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Question ID:- 140

Options:-

.1, Option ID :- 557,

. 2, Option ID :- 558,

. 3, Option ID :- 559,

. 4, Option ID :- 560,

Answer Given:- 2, Option ID : -558

Question ID:- 141

Options:-

.1, Option ID :- 561,

. 2, Option ID :- 562,

. 3, Option ID :- 563,

. 4, Option ID :- 564,

Answer Given:- 3, Option ID : -563

Two consecutive angles of a parallelogram are (.r + 60) ° and (2v + 30)°. This parallelogram can be
called :
(1) square
(2) rectangle
(3) rhombus
(4) kite

HHl
’cK % ^1 sbHHd =blul (.v + 60)° (2v + 30)°1? I ^1 *IT •H°hdl % :

(1)

(2)

(3)

(4) #T

ABCD is a quadrilateral in which AB = BC and AD = DC. If ZABC =100° and ZADC = 40°, then
ZBCD will measure.
(1) 140°

(2) 100 °
(3) 110 °

(4) 105°

ABCD t ftrctf AB = BC AD = D C t l ^ ZABC = 100° ZADC = 40° t, <Tt ZBCD
=FT 'BN % :
(1) 140°
(2) 100°

(3) 110°
(4) 105°
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Question ID:- 142

Options:-

.1, Option ID :- 565,

. 2, Option ID :- 566,

. 3, Option ID :- 567,

. 4, Option ID :- 568,

Answer Given:- 3, Option ID : -567

Question ID:- 143

If AABC ~ AQRP, ” (AABC) = 1, AB =18 cm and BC =15 cm, then PR is equal to :
ar (PQR) 4

(1) 8 cm

21<2> 1 -

(3) 10 cm
(4) 12 cm

— cm

^ AABC - AQRP, ar (AABC) = 9 , AB =18 McT8nBC =15M^ PR ^Rl|
ar (PQR) 4

:

(1) 8 M

(2) — M

(3) 10 M
(4) 12 M

4

In the figure, ABCD is a rectangle. Sum of lengths of the two diagonals is 100 cm and E is a point
on AB such that OE±AB. If OE = 7 cm, then length of rectangle (in cm) is :

(1) 24
(2) 48
(3) 36
(4) 40

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 569,

. 2, Option ID :- 570,

. 3, Option ID :- 571,

. 4, Option ID :- 572,

Answer Given:- 2, Option ID : -570

Question ID:- 144

Options:-

.1, Option ID :- 573,

. 2, Option ID :- 574,

STT'ffcf 3, ABCD 3TFET % I *̂1% ^iFTt’ fci =hu(f ^ dHisi•Ml "^T 100 cm t 3?R f5f <|E, AB ^ Tf^R
fWcf f OE _LAB1? I 'Mf?OE = 7cmt, 3TRRT (cm3) % :

(1) 24
(2) 48
(3) 36
(4) 40

In a circle of radius 5 cm, two tangents are drawn from on external point A. If these two tangents
are inclined to each other at an angle of 60 then length of each tangent is :

5(1) vTm
(2) 5 y/2 cm

(3) 5 -v/3

<4>
cm

5 cm r̂ l ^TT R A ^f ^ dT-41 "Hi? f? / 4$ <{14) W?1^<31^ M <H< 60° %
TR t, ell % :

m jjcm
(2) 5 V2 cm

(3) 5 V3 cm

5(4) -j- cm

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


. 3, Option ID :- 575,

. 4, Option ID :- 576,

Answer Given:- 3, Option ID : -575

Question ID:- 145

Options:-

.1, Option ID :- 577,

. 2, Option ID :- 578,

. 3, Option ID :- 579,

. 4, Option ID :- 580,

Answer Given:- 1, Option ID : -577

Question ID:- 146

In a circle of radius 5 cm, point P is at a distance of 13 cm from centre O. Pair of tangents PQ and
PR are drawn to the circle. Area of quadrilateral PQOR (in cm2) is :
(1) 60
(2) 30
(3) 65
(4) 75

5 cm f^FqT frf 3 P, O^13 cm^ tR f^Rf % I °[TT PQ PR Rf
f I PQOR (cm23) t :
(1) 60
(2) 30
(3) 65
(4) 75

In the given figure, O is centre of a circle. PQ is a chord and PR is tangent at point P on circle. If
ZRPQ = 40° , then ZPOQ is :

(1) 110°
(2) 90°

(3) 100 °

(4) 80 °
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Options:-

.1, Option ID :- 581,

. 2, Option ID :- 582,

. 3, Option ID :- 583,

. 4, Option ID :- 584,

Answer Given:- 4, Option ID : -584

Question ID:- 147

Options:-

^f , 7̂1 O % I PQ % sfk ^TT % PPTPR T^PF?f IM % I^ZRPQ = 40° %,

^ ZPOQ % :

(1) 110°

(2) 90°

(3) 100°

(4) 80°

In the figure, AB and CD are equal chords of a circle with centre O. If AB = (7x + 6) cm, CD = (4x + 9)
cm, ZAOB = (12y-4x + 3) ° and ZCOD = (10y + ll) °, then value of x and y are :

(1) x — 2, y = 3
(2) x = l, y = 6
(3) x = l, y =4
(4) x = 3, y = 6

^ , O % ŝ? % ^T, ^ AB 3fk CD PPH 4)3|l£t/qf^ AB = (7X + 6) cm, CD = (4x + 9) cm,

ZAOB = (12y-4x +3)° afa ZCOD = (lOy +11)° t, cfl x sfa y 1̂ PH t :

(1) x = 2, y= 3
(2) x = 1, y = 6
(3) x = l , y =4
(4) x = 3, y = 6
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.1, Option ID :- 585,

. 2, Option ID :- 586,

. 3, Option ID :- 587,

. 4, Option ID :- 588,

Answer Given:- 2, Option ID : -586

Question ID:- 148

Options:-

.1, Option ID :- 589,

. 2, Option ID :- 590,

. 3, Option ID :- 591,

. 4, Option ID :- 592,

Answer Given:- 2, Option ID : -590

Question ID:- 149

In a cyclic quadrilateral ABCD, if ZADB =30° and ZDCA = 70 °, then ZDAB is :
(1) 80 °

(2) 90 °

(3) 100 °

(4) 110 °

^§3 ABCD 3, ZADB = 30° 3?fc ZDCA = 70° f eft ZDAB t :
(1) 80°

(2) 90°

(3) 100°

(4) 110°

In the figure, O is the centre of a circle and AB,BC are two chords of a circle. If ZBCO = 40°, the
values of x and 1/ are :

(1) A =50°, y = 40°

(2) .v = 40°, y = 30°

(3) A = 25°, y = 20°

(4) A = 25°, i/ = 25 °
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Options:-

.1, Option ID :- 593,

. 2, Option ID :- 594,

. 3, Option ID :- 595,

. 4, Option ID :- 596,

Answer Given:- 3, Option ID : -595

Question ID:- 150

Options:-

.1, Option ID :- 597,

. 2, Option ID :- 598,

. 3, Option ID :- 599,

. 4, Option ID :- 600,

Answer Given:- 2, Option ID : -598

Question ID:- 151

f^TT TUT frf5f 37T O % 3ffc 4)^1^ AB BC11;!Tf^ ZBCO = 40° %, cTt x 3fR 1/ ^>T "BH

(1) x = 50°, y = 40°

(2) A: = 40°, y = 30°

(3) x = 25°, t/ = 20°

(4) x =25°, y =25°

Area of an isosceles right triangle is 8 cm2. Length of hypotenuse (in cm) is :

(1) Vl6
(2) V32

(3) V48

(4) V24

^FrfS^Tg ’HH =blul f^pT ^T[ £)?l 4icrl 8 cm2 % I ^ (cm f̂) % :

(1) Vl6
(2) V32

(3) >/48

(4) V24
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Options:-

.1, Option ID :- 601,

. 2, Option ID :- 602,

. 3, Option ID :- 603,

. 4, Option ID :- 604,

Answer Given:- 2, Option ID : -602

Question ID:- 152

Options:-

.1, Option ID :- 605,

. 2, Option ID :- 606,

. 3, Option ID :- 607,

. 4, Option ID :- 608,

Answer Given:- 2, Option ID : -606

Question ID:- 153

The side of a rhombus is 30 m and its one diagonal is 48 m. Area of rhombus (in m2) is :
(1) 648
(2) 864
(3) 432
(4) 718

30 mt 48 m11 (m2 f̂) % :
(1) 648
(2) 864
(3) 432
(4) 718

Two circular parks are of radius 16 m and 12 m. A third park is to be built such that its area is
equal to the sum of earlier parks. The diameter of new park (in m) is :
(1) 28
(2) 40
(3) 34
(4) 30

^tlhbK TRif ^ topT16 m 12 m11 cflUTT qT#7 ‘ST̂ K 36T Hill T̂PIT %% vJU =hl SHMKH
THT!% %wt i?i *rrcr i m; CFT (m "if) t :

(1) 28
(2) 40
(3) 34
(4) 30

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 609,

. 2, Option ID :- 610,

. 3, Option ID :- 611,

. 4, Option ID :- 612,

Answer Given:- 3, Option ID : -611

Question ID:- 154

In a circle of radius14 cm, the length of the arc is 22 cm. The area of segment corresponding to this
arc (in cm2) is :
(1) 48
(2) 98
(3) 56
(4) 66

14 cm^ Bfrill WTet ^ 22 cm11^ % TFRT C|T1<3S (cm2*)') % :
(1) 48
(2) 98
(3) 56
(4) 66

Four circular card board pieces of radii 7 cm are placed on a paper in such a way that each piece
touch other two pieces (see figure). The area of the shaded region (in cm2) is :

(1) 28
(2) 35
(3) 42
(4) 49

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 613,

. 2, Option ID :- 614,

. 3, Option ID :- 615,

. 4, Option ID :- 616,

Answer Given:- 2, Option ID : -614

Question ID:- 155

Options:-

.1, Option ID :- 617,

. 2, Option ID :- 618,

. 3, Option ID :- 619,

. 4, Option ID :- 620,

Answer Given:- 2, Option ID : -618

Question ID:- 156

7 cm BMI "3R CJT1|C+)!< TR!% chHl.'sl Rl fRMRIT RRf1 y c^ =b ^Rt ^RT?f =FRCTT % i (f^rar i f̂ercO 'ssRTif r̂ RRT RR ^H4->d (cm2^) % :

(1) 28
(2) 35
(3) 42
(4) 49

A ring is formed between two concentric circles. The radius of inner circle is 17.5 cm and area of
outer circle is 1386 cm2. Width of the ring is :
(1) 3.5 cm
(2) 3.2 cm
(3) 3.1 cm
(4) 3.6 cm

^1 R%?t ^rtf % Rfa £( fRT RRt % I 3R^T f̂ Tl 17.5 cm 3?R RTIR RRrf ^rf 5̂1 1386
cm211 ?R fRT^ f̂STf t
(1) 3.5 cm
(2) 3.2 cm
(3) 3.1 cm
(4) 3.6 cm

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 621,

. 2, Option ID :- 622,

. 3, Option ID :- 623,

. 4, Option ID :- 624,

Answer Given:- 3, Option ID : -623

Question ID:- 157

Options:-

.1, Option ID :- 625,

. 2, Option ID :- 626,

. 3, Option ID :- 627,

. 4, Option ID :- 628,

Answer Given:- 2, Option ID : -626

Question ID:- 158

If each edge of a cube is increased by 50%, the percentage increase in volume of the cube is :
(1) 225.5%
(2) 150%
(3) 237.5%
(4) 125%

"SR ^ ^ 50% f^TT eft % 3M<R 3 Mfd^ld sjhft :
(1) 225.5%
(2) 150%
(3) 237.5%
(4) 125%

Two cones with same base diameter 14 cm and height 15 cm are joined together along their bases.
The volume of shape so formed is :
(1) 860 cm3

(2) 1540 cm3

(3) 6160 cm3

(4) 770 cm3

*lHM 31TmT % 14 cm 3pfT15cm cfRlT'? 3TT*TRf Tf f^TT W f I M
31 l <^ld qR 3TPRR %
(1) 860 cm3

(2) 1540 cm3

(3) 6160 cm3

(4) 770 cm3

:
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Options:-

.1, Option ID :- 629,

. 2, Option ID :- 630,

. 3, Option ID :- 631,

. 4, Option ID :- 632,

Answer Given:- 4, Option ID : -632

Question ID:- 159

Options:-

.1, Option ID :- 633,

. 2, Option ID :- 634,

. 3, Option ID :- 635,

. 4, Option ID :- 636,

Answer Given:- 2, Option ID : -634

Question ID:- 160

A solid metallic hemisphere of radius 8 cm is melted and recast into small spheres of radius 2 cm
each. Number of small spheres is :
(1) 8
(2) 16
(3) 64
(4) 32

8 cm f%*TT *TT3% %f 2 cm 3 <1«IKI ^TeTf ^FTT I

*ilsm %
(1) 8
(2) 16
(3) 64
(4) 32

:

The radii of bases of cone and cylinder are in the ratio 4 : 3 and their heights are in the ratio 3 : 2,
then ratio between the volume of cone to volume of cylinder is :
(1) 9 : 8
(2) 8 : 9
(3) 7 : 5
(4) 5 : 7

Vl' j *^elH % 311*1111 %1 SfjMIcl 4 :3% ddchl dvdl^l 3 : 2% jMId %, % TTgi % <HMcH
3ftT % 3TPlcR F̂>T 3T^TRT % :

(1) 9 : 8
(2) 8 : 9
(3) 7 : 5
(4) 5 : 7
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Options:-

.1, Option ID :- 637,

. 2, Option ID :- 638,

. 3, Option ID :- 639,

. 4, Option ID :- 640,

Answer Given:- 1, Option ID : -637

Question ID:- 161

Options:-

.1, Option ID :- 641,

. 2, Option ID :- 642,

. 3, Option ID :- 643,

. 4, Option ID :- 644,

Answer Given:- 2, Option ID : -642

Question ID:- 162

The largest sphere is carved out of a solid cube of side 21 cm. The surface area of sphere (in cm2)
is :
(1) 1386
(2) 693
(3) 1848
(4) 924

21cm 'EFT 3 TT 111? f̂T TteTT PH^Idl W 1 =F T ^TWT (cm2 f̂) t
(1) 1386
(2) 693
(3) 1848
(4) 924

:

The sum of the radius of base and height of a solid right circular cylinder is 37 cm. If the toted
surface area of the solid cylinder is 1628 cm2, the volume of cylinder (in cm3) is :
(1) 3680
(2) 4620
(3) 6420
(4) 5640

cTftl <5T1I <*> K %eFT -%r 37 cm % I Tp? cTTn %eFT T̂T
1628 cm2|c?l %cFT °FT 3McFT (cm33) t :
(1) 3680
(2) 4620
(3) 6420
(4) 5640

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 645,

. 2, Option ID :- 646,

. 3, Option ID :- 647,

. 4, Option ID :- 648,

Answer Given:- 2, Option ID : -646

Question ID:- 163

Options:-

A histogram is to be drawn for following frequency distribution

Class Interval 5 - 10 10 -15 15 - 25 25 - 45 45 - 75

Frequency 6 12 10 8 15

The adjusted frequency for class interval 15 - 25 will be :
(1) 2
(2) 5
(3) 3
(4) 4

fTR «IK«( Kdl 3TFIct f̂ CsRFTT T̂HT % :

3H\UI <M 5 -10 10 -15 15 - 25 25 - 45 45 - 75

6 12 10 8 15«IK«IKdl

3T?RM 15 - 25 % nRctdl «d< ®iKdi %
(1) 2
(2) 5
(3) 3
(4) 4

:

The mean of 100 observations is 60. If one of observation 60 is replaced by 210, the new mean will
be :
(1) 60.5
(2) 61
(3) 61.5
(4) 62

100 RfST 6011 60^1210$ r̂l^TT clt T̂T #TTT :
(1) 60.5
(2) 61
(3) 61.5
(4) 62
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.1, Option ID :- 649,

. 2, Option ID :- 650,

. 3, Option ID :- 651,

. 4, Option ID :- 652,

Answer Given:- 3, Option ID : -651

Question ID:- 164

Options:-

.1, Option ID :- 653,

. 2, Option ID :- 654,

. 3, Option ID :- 655,

. 4, Option ID :- 656,

Answer Given:- 4, Option ID : -656

Question ID:- 165

The width of each of five continuous class intervals in a frequency distribution is 5 and lower class
limit of lowest class interval is 25. The upper class limit of the highest class interval will be :
(1) 40
(2) 55
(3) 45
(4) 50

TT) sTPRRcTT TN d'lldK ^ 3-fcPMf ^ 5% "THI % epf STcRTef fTR llfaT 25 % I
cpf 3TcRTeT =Ft ‘ifht :

(1) 40
(2) 55
(3) 45
(4) 50

The mode of the following frequency distribution is :

Class Interval Frequency
0-10 8

10-20 10

20-30 10

30-40 16

40-50 12

50-60 6

60-70 7

(1) 34
(2) 36
(3) 38
(4) 35

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 657,

. 2, Option ID :- 658,

. 3, Option ID :- 659,

. 4, Option ID :- 660,

Answer Given:- 1, Option ID : -657

Question ID:- 166

faH <slK ®lKdl ~^Z~rT ^>T t :

<^MKdl

0-10 8

10-20 10

20-30 10

30-40 16

40-50 12

50-60 6

60-70 7

(1) 34
(2) 36
(3) 38
(4) 35

For the frequency distribution :

Age (in years) Frequency
0-10 5

10-20
20-30
30-40
40-50

25
25
18
7

median is :
(1) 25
(2) 26
(3) 22
(4) 24

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 661,

. 2, Option ID :- 662,

. 3, Option ID :- 663,

. 4, Option ID :- 664,

Answer Given:- 4, Option ID : -664

Question ID:- 167

Options:-

.1, Option ID :- 665,

. 2, Option ID :- 666,

. 3, Option ID :- 667,

. 4, Option ID :- 668,

Answer Given:- 2, Option ID : -666

Question ID:- 168

®IK<sll<cll ^35 :

3TFJ ( f̂ 3) o|K«IKdl

0-10 5

10-20 25

20-30 25

30-40 18

40-50 7

RT T̂-h % :
(1) 25
(2) 26
(3) 22
(4) 24

The point of intersection of ' the less than type' and of tire 'more than type' ogives is :
(29.6, 45.2). This indicates :
(1) Median = 29.6
(2) Mode = 39.9
(3) Median = 45.2
(4) Mean = 29.6

* Tt 3Tf^) ITRTT’ (29.6, 45.2)11 t :

(1) RT«T^ = 29.6

(2) = 39.9

(3) rmzT37 = 45.2

(4) Tn«q = 29.6
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Options:-

.1, Option ID :- 669,

. 2, Option ID :- 670,

. 3, Option ID :- 671,

. 4, Option ID :- 672,

Answer Given:- 1, Option ID : -669

Question ID:- 169

A bag contains 12 balls out of which x are red. One ball is drawn at random from the bag and p
is the probability that it is a red ball. Now 6 more red balls are added to the bag and die probability
of drawing a red ball is 2 p. Number of red balls is :
(1) 6
(2) 2
(3) 4
(4) 3

"A 12^t PSHA* x efM f i^Af Weft % ciM yiR =ticii

p % I 6 cTTcT ^UTeft ^TTcft f 3lk efleT fH=bdA ^ yifA =bdl 2 p % I efTrf msMI % :
(1) 6
(2) 2
(3) 4
(4) 3

From the month of July, whose first day is Monday, a day is selected at random. The probability
that it is not a Monday is :

6(1)
31

(2) 5
h

26(3)
31

25(4)
31

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 673,

. 2, Option ID :- 674,

. 3, Option ID :- 675,

. 4, Option ID :- 676,

Answer Given:- 3, Option ID : -675

Question ID:- 170

% "RTfr t̂ RT̂ f H^vll t^T "HIHCJK 1?, Ml ^f^T T̂ P̂FT feTT T̂TcTf "I I yipMchctl ^H =lK Hlff
t. t :

6(1)
31

5(2)
6

26(3)
31

25(4)
31

A biased dice was rolled 600 times. The frequencies of the various outcomes are given in the
following table :

Outcome 1 2 3 4 5 6

Frequency 160 130 120 50 60 80

Now the dice is rolled once, the probability of getting a number which is a perfect square is :

1(1)
12

13(2)
30

4(3)
15

(4) I20

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 677,

. 2, Option ID :- 678,

. 3, Option ID :- 679,

. 4, Option ID :- 680,

Answer Given:- 4, Option ID : -680

Question ID:- 171

TRT 3}f*R?f 600 «fR cj<o=bNI W I MR ^IIHI ®lK®lKcll 3?!flR cllfcricbl "*¥ f^TT W % I

HR'JIIH 1 2 3 4 5 6

160 130 120 50 60 80®lK ®IKdl

3R qr r̂^^ IJSTiRI TRT, iff yifa=bdl %^^ "RTR #TT, % :

1(1)
12

13(2)
30

(3) 4
15

7(4)
20

A school has 4 clubs A, B, C and D. IX class has 30 students. Its 6 students are in club A, 7 in club
B, 2 in club C and rest in D. A single student is selected at random from the class to act as class-
monitor. The probability that the selected student is from club A or D is :

7(1)
10

1(2) f
(3) I

3

17(4)
30
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Options:-

.1, Option ID :- 681,

. 2, Option ID :- 682,

. 3, Option ID :- 683,

. 4, Option ID :- 684,

Answer Given:- 1, Option ID : -681

Question ID:- 172

TRi fft?IM*I ft 4 RR A, B, C 3?ft D11R3JT IXft 30 t5R f I Tflft> 6 UR RR A ft, 7 RR B ft, 2 RR Cft
ftffcft1? 3RR Dft tl TRT 3lftft UR =FT RcfRRT ft RR ft ft RSJT MUlcK % feflT RR fftRT W I ylR-f ^bdl 1%
R^rfR UR A UT D RR ft ft %, t :

(1) rr:10

1,2) |
(3) I

5

17(4)
30

A box contains discs numbered from 10 to 90. If one disc is drawn at random from the box, the
probability that its number on the disc is having both digits prime, is :

!(1) t
(2) 4-

81

6(3)
81

(4) \
S

TRi RRT ft 10 ft 90 cT=F Rt ftfftid tftsMlftf Reft fs*«h f I RRT ft' ft R^RT Rt fallen RI^eft yilftdidl ^Ff R ftfdicl ftteMI ft ftfft 3RT 3RM ft, ft :

(1) X
~
9

(2) 4
81

6(3)
81

(4) 1
8
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Options:-

.1, Option ID :- 685,

. 2, Option ID :- 686,

. 3, Option ID :- 687,

. 4, Option ID :- 688,

Answer Given:- 2, Option ID : -686

Question ID:- 173

Options:-

.1, Option ID :- 689,

. 2, Option ID :- 690,

. 3, Option ID :- 691,

. 4, Option ID :- 692,

Answer Given:- 3, Option ID : -691

Question ID:- 174

All the red face cards are removed from a pack of 52 playing cards. A card is drawn at random
from the remaining cards, after reshuffling them. The probability that the card drawn is a face
card is :

3(1)
22

2(2)
11

3(3)
23

2(4)
23

52 xTxff TRT ^ elTeT Pl =fild f^TI I Trlt % «fT^'3^ "Q^T

^l <3-oc5 <m fn=hldl TPTTI HlRtckll M̂T TclT t :

3(1)
22

2(2)
11

3(3)
23

2(4)
23
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Options:-

.1, Option ID :- 693,

. 2, Option ID :- 694,

. 3, Option ID :- 695,

. 4, Option ID :- 696,

Answer Given:- 1, Option ID : -693

Question ID:- 175

Options:-

.1, Option ID :- 697,

. 2, Option ID :- 698,

. 3, Option ID :- 699,

. 4, Option ID :- 700,

Answer Given:- 1, Option ID : -697

Question ID:- 176

p2 - lIf cosec0 +cot0 = p, then equals :
p2 + 1

(1) COS0
(2) sin0
(3) tan6
(4) cote

P2 - 1 f :cosec0 + cote = p, ctl
P2 + i

(1) COS0
(2) sin0
(3) tan0
(4) cote

If tan0-cot0 = 5, then value of tan30 -cot3© is :
(1) 135
(2) 110
(3) 115
(4) 140

tan0 -cot0 =51, eft tan30 -cot3© 1? :
(1) 135
(2) 110
(3) 115
(4) 140

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 701,

. 2, Option ID :- 702,

. 3, Option ID :- 703,

. 4, Option ID :- 704,

Answer Given:- 1, Option ID : -701

Question ID:- 177

Options:-

.1, Option ID :- 705,

. 2, Option ID :- 706,

. 3, Option ID :- 707,

. 4, Option ID :- 708,

Answer Given:- 1, Option ID : -705

In a right angled triangle ABC, ZB = 90° and ZC is acute angle. Value of sinC + cosC is :
(1) more than 1
(2) 1

(3) less than 1 but more than —
2

(4) ±
2

^H=hlul f’PJ'ST ABC3 ZB = 90° 3ft? ZC =frlul 1|I sinC + cosC BH % :

(1) 1 3 3lfe
(2) 1

(3) ^ F̂TR —2
(4) I

3srta

Value of cos230
(1 + fcan20) is :

(1) cos40
(2) cos20.sin20
(3) 1
(4) cos0

cos20 (1 + tan20) ^>T BH 1? :

(1) cos40
(2) cos20.sin20
(3) 1
(4) cos0

NPRSG
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Question ID:- 178

Options:-

.1, Option ID :- 709,

. 2, Option ID :- 710,

. 3, Option ID :- 711,

. 4, Option ID :- 712,

Answer Given:- 4, Option ID : -712

Question ID:- 179

Options:-

.1, Option ID :- 713,

. 2, Option ID :- 714,

If sin0 + cos0 =1, then value of 4sin0.cos0 is :
(1) 1

ra|
(3)|
(4) 0

sin0 +cos0 =1 4sin0-cos0 :
(1) 1

<2) I
(3) f
(4) 0

A kite is flying at a height of 30 m from the ground. The length of string from kite to the ground is
60 m. Assuming that there is no slackness in the string, the angle of elevation of kite at the ground
is :
(1) 90°
(2) 30°
(3) 45°
(4) 60°

WT Tf 30 m ^ % I WT ^ elHI^ 60 m11^ 1%'Sift if
t̂cT t.^if WT WT TTH =ffar f :

(1) 90°
(2) 30°
(3) 45°
(4) 60°

https://applink.adda247.com/d/XhqWf9lSap
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. 3, Option ID :- 715,

. 4, Option ID :- 716,

Answer Given:- 2, Option ID : -714

Question ID:- 180

Options:-

.1, Option ID :- 717,

. 2, Option ID :- 718,

. 3, Option ID :- 719,

. 4, Option ID :- 720,

Answer Given:- 3, Option ID : -719

Print ResponseSheet

A man standing on the top of 50 m high tower, observes two cars on the opposite sides of the
tower with angles of depression 30°and 45° respectively. The distance between the two cars is :
(1) 150 m

(2) 50 ('/5 + ^r) m

(3) 50 (l + V3) m

(4) 50 (l + -L) m

50 m zrar % ^famid f^TTsrf if st> Hvi: 30° sfo 45°
•RTW 11 <?Hf ^t :

(1) 150

(2) 50 (V3 + i) ^
(3) 50 (l + )̂ *fta

(4) 50 (l + -y
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Exam Shift : MorningExam date : 14.02.2023

KVS RECURITMENT EXAM 2022
Provisional Answer Keys

Post : TGT MATHS

Qno keyQuestion Description

001 3General English

002 4General English

003 3General English

004 4General English

005 2General English

006 1General English

007 4General English

008 3General English

009 3General English

010 2General English

011 3General Hindi

012 4General Hindi

013 3General Hindi

014 4General Hindi

015 1General Hindi

016 4General Hindi

017 2General Hindi

018 3General Hindi

019 2General Hindi

020 1General Hindi

021 1General Awareness& Current Affairs

022 3General Awareness& Current Affairs

023 3General Awareness& Current Affairs

024 1General Awareness& Current Affairs

025 3General Awareness& Current Affairs

026 4General Awareness& Current Affairs

027 2General Awareness& Current Affairs

028 3General Awareness& Current Affairs

029 4General Awareness& Current Affairs

030 3General Awareness& Current Affairs

031 4Reasoning Ability

032 4Reasoning Ability

033 4Reasoning Ability

034 3Reasoning Ability

035 4Reasoning Ability

036 1Computer Literacy

037 3Computer Literacy

038 2Computer Literacy

039 3Computer Literacy

040 1Computer Literacy

041 4Understanding the Learner

042 3Understanding the Learner

043 4Understanding the Learner

044 3Understanding the Learner

045 3Understanding the Learner

046 2Understanding the Learner

047 4Understanding the Learner

048 1Understanding the Learner

049 4Understanding the Learner

050 4Understanding the Learner

051 1Understanding Teaching Learning

Qno keyQuestion Description

052 2Understanding Teaching Learning

053 2Understanding Teaching Learning

054 2Understanding Teaching Learning

055 2Understanding Teaching Learning

056 3Understanding Teaching Learning

057 1Understanding Teaching Learning

058 3Understanding Teaching Learning

059 3Understanding Teaching Learning

060 1Understanding Teaching Learning

061 3Understanding Teaching Learning

062 2Understanding Teaching Learning

063 1Understanding Teaching Learning

064 3Understanding Teaching Learning

065 4Understanding Teaching Learning

066 1Creating Conducive Learning Env. Etc.

067 2Creating Conducive Learning Env. Etc.

068 2Creating Conducive Learning Env. Etc.

069 3Creating Conducive Learning Env. Etc.

070 4Creating Conducive Learning Env. Etc.

071 3Creating Conducive Learning Env. Etc.

072 3Creating Conducive Learning Env. Etc.

073 1Creating Conducive Learning Env. Etc.

074 3Creating Conducive Learning Env. Etc.

075 2Creating Conducive Learning Env. Etc.

076 3Creating Conducive Learning Env. Etc.

077 1Creating Conducive Learning Env. Etc.

078 4Creating Conducive Learning Env. Etc.

079 4Creating Conducive Learning Env. Etc.

080 1Creating Conducive Learning Env. Etc.

081 2MATHS

082 4MATHS

083 1MATHS

084 1MATHS

085 4MATHS

086 1MATHS

087 3MATHS

088 3MATHS

089 2MATHS

090 3MATHS

091 4MATHS

092 1MATHS

093 2MATHS

094 2MATHS

095 4MATHS

096 2MATHS

097 3MATHS

098 2MATHS

099 3MATHS

100 3MATHS

101 4MATHS

102 3MATHS

Qno keyQuestion Description

103 4MATHS

104 2MATHS

105 3MATHS

106 4MATHS

107 2MATHS

108 3MATHS

109 2MATHS

110 1MATHS

111 1MATHS

112 1MATHS

113 3MATHS

114 2MATHS

115 4MATHS

116 2MATHS

117 3MATHS

118 4MATHS

119 4MATHS

120 3MATHS

121 3MATHS

122 2MATHS

123 1MATHS

124 3MATHS

125 1MATHS

126 4MATHS

127 1MATHS

128 1MATHS

129 3MATHS

130 2MATHS

131 3MATHS

132 2MATHS

133 3MATHS

134 2MATHS

135 1MATHS

136 3MATHS

137 1MATHS

138 4MATHS

139 3MATHS

140 2MATHS

141 3MATHS

142 3MATHS

143 2MATHS

144 3MATHS

145 1MATHS

146 4MATHS

147 2MATHS

148 1MATHS

149 3MATHS

150 2MATHS

151 2MATHS

152 2MATHS

153 3MATHS

Page 1
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Exam Shift : MorningExam date : 14.02.2023

KVS RECURITMENT EXAM 2022
Provisional Answer Keys

Post : TGT MATHS

Qno keyQuestion Description

154 3MATHS

155 1MATHS

156 3MATHS

157 2MATHS

158 4MATHS

159 2MATHS

160 1MATHS

161 2MATHS

162 2MATHS

163 3MATHS

164 4MATHS

165 2MATHS

166 4MATHS

167 1MATHS

168 4MATHS

169 3MATHS

170 4MATHS

171 1MATHS

172 2MATHS

173 3MATHS

174 1MATHS

175 4MATHS

176 1MATHS

177 3MATHS

178 4MATHS

179 2MATHS

180 3MATHS

Page 2
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